OFFICIAL PROCEEDINGS OF THE READING SCHOOL DISTRICT BOARD OF DIRECTORS

Regular Meeting May 21, 2008

Minutes of the Reading School District Board of Directors Regular Meeting held on Wednesday, May 21, 2008, in the Board Room of the Administration Building, 800 Washington Street, Reading, PA.

The meeting was called to order at 7:00 p.m. by Mrs. McCree, President.

ROLL CALL

Board Members Present:

Mr. BretonMr. CinficiMr. CooperMr. SantoroMr. StammMr. StorchMs. StromanMs. Wertz

Mrs. McCree, President

Administrators Present:

Dr. Thomas R. Chapman, Jr., Superintendent of Schools

Dr. Anthony Georeno, Director of Human Resources

Mrs. Linda A. Greth, Director of Community Relations/Ass't. Secretary of the Board

Mr. Dennis Kelley, Director of Business Affairs

Dr. Robin Laysears-Smith, Director of Secondary Education

Dr. Rose Merrell-James, Director of Student Services

Mr. Barry Suski, Director of Facilities

Mr. Eric Turman, Director of Elementary Education

Speakers Before the Board

Yvonne Stroman Board Member Taxpayer Dollars
Daniel Sodomsky 500 Shalter Avenue Zoning Appeal - JCC

Minutes

The Minutes of the February 27, 2008 Regular Meeting were considered. The motion was made by Mr. Storch, and this was seconded by Ms. Wertz. The Minutes were approved unanimously.

Human Resources

The Human Resources Committee presented a total of 96 resolutions for consideration. A motion to consider resolutions 1, 3, 4 and 6 to 83 was made by Mr. Cooper, and this was seconded by Mr. Breton.

- Res. 1 Anthony S. Calloway, change of status from Lead Grade 9 Vice Principal at Reading High School to Principal at Millmont Magnet School, effective July 1, 2008, at a salary of \$78,000.00 for the 2008-09 school year.
- Res. 2 This resolution was voted on separately.
- Res. 3 Wanda Gonzalez-Crespo, promotion from (REA) ELA Teacher Grade 1 at 10th & Green Elementary School to (RSAA) Supervisor of ELA (206 days), District Wide, effective July 1, 2008, at a salary of \$56,993.00 for the 2008-09 school year.
- **Res. 4** Janet C. Heilman, change of status from Elementary Instructional Supervisor at 13th & Union Elementary School to Principal (12-month) at 16th & Haak Elementary School, effective July 1, 2008, at a salary of \$76,909.00 for the 2008-09 school year.
- Res, 5 This resolution was voted on separately.
- Res. 6 Sheila Guadagno Simyak, (RSAA) Elementary Principal (12-month) at Northwest Area Elementary School, effective July 1, 2008, at a salary of \$97,000.00 for the 2008-09 school year.

Instructional

- Res. 7 Kelly M. Dippolito, Temporary Professional Employee, Special Education/LS Itinerant Teacher at Reading High School, effective August 19, 2008, at a salary of \$42,004.00 + \$200.00 stipend, TspM14 + 24 c.i. of the 2007-08 salary scale.
- **Res. 8** Laura S. Fisher, Temporary Professional Employee, Reading Specialist at Northwest Middle School, effective date pending paperwork, at a salary of \$39,764.00 prorated, TB15 of the 2007-08 salary scale.
- Res. 9 Evan C. Jack, Temporary Professional Employee, Art Teacher at Alternative Education Center, effective August 19, 2008, at a salary of \$36,086.00, TB17 of the 2007-08 salary scale.
- Res. 10 Cory M. Knack, change of status from Long-Term Substitute to Temporary Professional Employee, Elementary Teacher Grade 3 at 10th & Penn Elementary School, effective August 19, 2008, at a salary of \$37,525.00, TB16 of the 2007-08 salary scale.

- Res. 11 Gregory V. Kosciolek, Temporary Professional Employee, Special Education/LS Itinerant Teacher at Reading High School, effective August 19, 2008, at a salary of \$37,686.00 + \$200.00 stipend, TspB17 + 24 c.i. of the 2007-08 salary scale.
- Res. 12 Matthew J. Redcay, change of status from Long-Term Substitute to Temporary Professional Employee, Elementary Teacher Grade 5 at 13th & Union Elementary School, effective August 19, 2008, at a salary of \$38,164.00, TB15 + 12 c.i. of the 2007-08 salary scale.
- Res. 13 Adam M. White, Temporary Professional Employee, Special Education/LS Itinerant Teacher at Southwest Middle School and Southern Middle School, effective August 19, 2008, at a salary of \$36,086.00 + \$200.00 stipend, TspB17 of the 2007-08 salary scale.
- Res. 14 Samantha B. Wolfe, Temporary Professional Employee, Special Education/LS Itinerant Teacher at Northeast Middle School and Northwest Middle School, effective August 19, 2008, at a salary of \$36,086.00 + \$200.00 stipend, TspB17 of the 2007-08 salary scale.
- Res. 15 Amends Res. 9 of the February 27, 2008 HR Board Agenda which read Preston P. McKnight, Professional Employee, Social Studies Teacher, effective August 2008, at a salary of \$68,803.00, TM2+36 c.i. of the 2007-08 salary scale (2008-09 salary to be determined) to Preston P. McKnight, Professional Employee, Social Studies Teacher, effective August 11, 2008, at a salary of \$68,803.00, TM2+36 c.i. of the 2007-08 salary scale.
- Amends Res. 10 of the February 27, 2008 HR Board Agenda which read David J. Morris, Long-Term Substitute, Elementary Teacher, effective February 19, 2008 at a salary of \$36,086.00, TB17 of the 2007-08 salary scale to David J. Morris, Long-Term Substitute, Elementary Teacher, effective February 19, 2008 through the end of the day May 28, 2008, at a salary of \$36,086.00 prorated, TB17 of the 2007-08 salary scale.
- Res. 17 Amends Res. 17 of the February 27, 2008 HR Board Agenda which read Matthew J. Redcay, Long-Term Substitute, Elementary Teacher, effective date pending paperwork, at a salary of \$37,525.00 prorated, TB16 + 12 c.i. of the 2007-08 salary scale to Matthew J. Redcay, Long-Term Substitute, effective February 14, 2008 through the end of the day May 21, 2008, at a salary of \$37,525.00 prorated, TB16 + 12 c.i. of the 2007-08 salary scale.

Support Staff

- **Res. 18** Yasmin Bermudez, PT (720 hours) Lunch Aide at 10th & Green Elementary School, effective date pending paperwork, at an hourly rate of \$7.15.
- Res. 19 Lisa E. Candelaria, PT (987 hours) Clerk 2 at Northeast Middle School, effective May 12, 2008, at an hourly rate of \$16.02.

- Res. 20 Luz D. Garcia-Torres, PT (720 hours) Lunch Aide at 10th & Green Elementary School, effective April 22, 2008, at an hourly rate of \$7.15.
- Res. 21 Westley C. Giddens, change of status from FT 12-month Guidance Clerk 2 at Reading High School to FT 12-month Scheduling Clerk 5 at Reading High School, effective April 29, 2008 at an hourly rate of \$17.44.
- Res. 22 Maria L. Gutierrez, PT (720 hours) Lunch Aide at 10th & Green Elementary School, effective date pending paperwork, at an hourly rate of \$7.15.
- Res. 23 Abby L. Harrison, FT (1477.5 hours) Health Assistant Floater, District Wide, effective date pending paperwork, at an hourly rate of \$9.30.
- Res. 24 Enelia Jimenez, change of status from FT (1289.25 hours) MDS Assistant, One-on-One, at 10th & Penn Elementary School to FT (1241.50 hours) ELA Assistant at Southwest Middle School, effective May 5, 2008, at a salary of \$11,545.93.
- Res. 25 Gilbert E. Johnson, change of status from PT (720 hours) 10-month Cafeteria Security Guard at Reading High School to FT (1488 hours) 10-month Security Guard at Northeast Middle School, effective May 8, 2008. Hourly rate to remain the same.
- Res. 26 Michele R. Karkoska, change of status from FT 12-month Human Resource Floater Clerk 1 to FT 12-month Clerk 4 at Northwest Area Elementary School effective April 29, 2008 at an hourly rate of \$16.82.
- Res. 27 Chelsea N. Klein, PT Student Mentor, Mentor Program (Summer Hire), District Wide, effective date pending paperwork, at an hourly rate of \$7.15.
- Res. 28 Cynthia M. Martinez, FT (1289.25 hours) ES Assistant at Glenside Elementary School, effective date pending paperwork, at an hourly rate of \$9.30.
- **Res. 29** Joesmarie Morales, FT Health Assistant Floater, District Wide, effective date pending paperwork, at an hourly rate of \$9.30.
- Res. 30 Lenilda E. Pasual, Substitute Cafeteria Worker at Reading High School, effective date pending paperwork, at an hourly rate of \$9.00.
- Res. 31 Desiree M. Rodriguez, FT (1950 hours) HR Floater Clerk 1, District Wide, effective date pending paperwork, at an hourly rate of \$15.65.
- Res. 32 Dairis Rosario, PT (720 hours) Lunch Aide at 10th & Penn Elementary School, effective May 12, 2008, at an hourly rate of \$7.15.
- Res. 33 Elsa Rosario, PT (720 hours) Lunch Aide at 16th & Haak Elementary School, effective May 13, 2008, at an hourly rate of \$7.15

- Res. 34 Luz M. Santiago, change of status from (RESPA) FT (1337 hours) 10-month Caseworker (Title 1) at Reading High School to (AFSCME) FT (1950 hours) 12-month HR Clerical Floater, District Wide, effective May 12, 2008, at an hourly rate of \$15.65.
- Res. 35 Cassie A. Thomas, PT (720 hours) Lunch Aide at 16th & Haak Elementary School, effective May 12, 2008, at an hourly rate of \$7.15.

Resignations/Terminations (Approvals/Ratifications)

Administrative

Res. 36 Mark G. McIntyre, Director of Special Education, Administration Building, resignation with regrets effective at the end of the day July 15, 2008. Date includes being held up to 60 days.

Administrative Support

Res. 37 Elena M. Madueno, PT EAP Data Collector, <u>resignation</u> with regrets effective at the end of the day June 20, 2008.

Instructional

- Res. 38 Susan F. Lockwood, Special Education/LS Teacher at Lauer's Park Elementary School, <u>resignation</u> with regrets effective at the end of the day June 6, 2008.
- **Res. 39** Paula M. Mahala, Elementary Teacher Grade 5 at Riverside Elementary School, resignation with regrets effective at the end of the day June 5, 2008.
- Res. 40 Pam S. Matzelle, Foreign Language Teacher Spanish at Reading High School, retirement with regrets effective at the end of the day June 5, 2008.
- Res. 41 Andrea S. Morsby, Elementary Teacher Grade 2 at Lauer's Park Elementary School, <u>resignation</u> with regrets effective at the end of the day June 6, 2008.
- **Res. 42** Kelly R. Moser, Reading Specialist at Reading High School, <u>resignation</u> with regrets effective at the end of the day June 5, 2008.
- Res. 43 Charles M. Randazzo, Science Teacher Grade 8 at Southern Middle School, retirement with regrets effective at the end of the day June 5, 2008.
- Res. 44 Susan L. Turczynski, Elementary Teacher Grade 1 at Lauer's Park Elementary School, resignation with regrets effective at the end of the day August 18, 2008.
- **Res. 45** Melissa J. Wolfe, Social Studies Teacher at Reading High School, <u>resignation</u> with regrets effective at the end of the day June 5, 2008.

Res. 46 Amends Res. 48 of the February 27, 2008 HR Board Agenda which read Elsa M. Rodriguez-Trejo, Math Coach at Reading High School, retirement with regrets effective at the end of the day June 30, 2008 to Elsa M. Rodriguez-Trejo, Math Coach at Reading High School, retirement with regrets effective at the end of the day June 5, 2008.

Support Staff

- Res. 47 Elaine N. Bachman, PT Head Lunch Aid at 10th & Penn Elementary School termination effective at the end of the day May 2, 2008.
- **Res. 48** Michele L. Bocian, PT 2nd Shift Custodian, District Wide, <u>resignation</u> with regrets effective at the end of the day April 25, 2008.
- **Res. 49** Daniel Glass, FT 10-month Security Guard at Northeast Middle School, <u>resignation</u> with regrets effective at the end of the day May 9, 2008.
- Res. 50 Evelyn M. Hyneman, PT Lunch Aide at 13th & Union Elementary School, resignation with regrets effective at the end of the day April 24, 2008.
- Res. 51 April L. Lenhart, FT AS Assistant at 13th & Union Elementary School, <u>resignation</u> with regrets effective at the end of the day May 27, 2008.
- Res. 52 Jacqueline C. McAliley, PT Lunch Aide at 16th & Haak Elementary School, resignation with regrets effective at the end of the day April 22, 2008.
- Res. 53 Theodora J. Reed, FT 12-month Clerk 4 at Millmont Elementary School, <u>retirement</u> with regrets effective at the end of the day August 15, 2008.
- Res. 54 Aida L. Ruiz, PT Parent Outreach at Glenside Elementary School, <u>resignation</u> with regrets effective at the end of the day May 9, 2008.
- Res. 55 Maria E. Vargas, PT Lunch Aide at 10th & Green Elementary School, <u>resignation</u> with regrets effective at the end of the day April 11, 2008.

Compensation (Approvals/Ratifications)

Res. 56 Approves the following Team Leaders for the 2007-08 school year at the amounts listed:

Glenside Gateway Magnet School (was TBA 8/22/07 Board)

Math	Carl Schupp	\$500.00
Science	Jennifer Voelker	\$500.00

Northeast Middle School (was TBA 8/22/07 Board)

6th Grade	William Sterner	\$500.00
7th Grade	Michele Ehrhart	\$500.00

8th Grade Vicky Halferty \$500.00

Res. 57 Approves the following Middle School Department Head for the 2007-08 school year at the amount listed:

Northwest Middle School

Reading Lisa Reber \$600.00

(replaces Julie Foley)

Northeast Middle School

Family Consumer Science Arlene Filtosh-Smith \$475.00

(was TBA - 8/22/07 Board)

English Tara Miller \$1,100.00

(increase in staff)

Res. 58 Bryan J. Greth, from \$18.44 an hour to \$18.86 an hour for completion of 2nd year Plumbing Apprentice Program, effective May 14, 2008.

Additions to Approved Substitute List

Res. 59 Approves the following Daily Substitutes:

Nicole Benoit-Roy Elementary

Samuel L. Bryant Elementary / Secondary

Leaves of Absence (Approvals/Ratifications)

Instructional

- **Res. 60** Veronica Caffarello-Furey, School Nurse at 13th & Union Elementary School, Family Medical Leave of Absence, on an as needed basis, effective May 5, 2008 through the end of the day June 5, 2008.
- Res. 61 Jessica A. Chambers, Kindergarten Teacher at Amanda Stout Elementary School, Child Rearing Leave of Absence effective October 28, 2008 through the end of the day April 28, 2009.
- Res. 62 Melissa N. Cock, Art Teacher at Glenside Elementary School and Glenside Gateway Magnet School, Child Rearing Leave of Absence effective October 9, 2008 through the end of the day November 20, 2008.
- Res. 63 Cheryl L. Davis, Special Education/LS Teacher at Reading High School, Disability Leave of Absence effective April 14, 2008 through the end of the day May 21, 2008.
- Res. 64 Teresa Heckman, Elementary Teacher Grade 3 at Northwest Area Elementary School, Child Rearing Leave of Absence effective October 12, 2008 through the end of the day November 25, 2008.

- Res. 65 Keriellen H. Heydt, Special Education LS Teacher at Amanda Stout Elementary School, Child Rearing Leave of Absence effective November 29, 2008 through the end of the day May 29, 2009.
- Res. 66 Holly A. Lamont, Elementary Teacher Grade 1 at Thomas Ford Elementary School, Child Rearing Leave of Absence effective December 2, 2008 through the end of the day January 12, 2009.
- Res. 67 April D. Matz, Reading Teacher at 12th & Marion Elementary School, Child Rearing Leave of Absence effective September 12, 2008 through the end of the day March 12, 2009.
- Res. 68 Bernadette G. Norton, Guidance Counselor at Lauer's Park Elementary School, Child Rearing Leave of Absence effective July 17, 2008 through the end of the day August 29, 2008.
- Res. 69 Amends Resolution 82 of the November 28, 2007 HR Board Agenda which read Erin M. Brown, Math Coach at Amanda Stout Elementary School, Child Rearing Leave of Absence effective April 13, 2008 through the end of the day September 22, 2008 to Erin M. Brown, Math Coach at Amanda Stout Elementary School, Child Rearing Leave of Absence effective April 15, 2008 through the end of the day June 6, 2008.
- Res. 70 Amends Resolution 133 of the January 30, 2008 HR Board Agenda which read Lauran A. Weiler, Elementary Teacher Grade 5 at 13th & Union Elementary School, Child Rearing Leave of Absence to begin November 27, 2007 through the end of the day April 30, 2008 to Lauran A. Weiler, Elementary Teacher Grade 5 at 13th & Union Elementary School, Child Rearing Leave of Absence to begin November 27, 2007 through the end of the day May 27, 2008.
- Res. 71 Amends Res. 100 of the October 24, 2007 HR Board Agenda which read Katie M. Williams, Social Studies Teacher at Reading High School, Child Rearing Leave of Absence effective May 3, 2008 through the end of the day June 14, 2008 to Katie M. Williams, Social Studies Teacher at Reading High School, Child Rearing Leave of Absence effective April 28, 2008 through the end of the day June 9, 2008.

Support Staff

- Res. 72 Erika Diaz, FT ELA Assistant at 12th & Marion Elementary School, Child Rearing Leave of Absence effective April 8, 2008 through the end of the day August 17, 2008.
- Res. 73 Plashette Jones-Smith, FT MDS Assistant, One-on-One, at Reading High School, Child Rearing Leave of Absence effective May 19, 2008 through the end of the day August 15, 2008.
- Res. 74 Bambi Swartzel, FT Cafeteria Worker at Reading High School, Family Medical Leave of Absence effective April 29, 2008 through the end of the day June 6, 2008.

Res. 75 Kaelyn Templin, FT Accounts Payable Clerk 3, Administration Building, Child Rearing Leave of Absence effective June 23, 2008 through the end of the day August 1, 2008.

Return From Leaves of Absence (Approvals/Ratifications)

Instructional

- Res. 76 Andrea Curtis, Elementary Teacher Grade 1 at 10th & Penn Elementary School, return from Sabbatical Leave of Absence for Professional Development effective June 6, 2008.
- Res. 77 Candice M. Kehres, Special Education/ES Communication Arts Teacher at Southern Middle School, return from Child Rearing Leave of Absence effective June 2, 2008.
- Res. 78 Julie Rutt, Pre-Algebra Teacher at Southern Middle School, return from Child Rearing Leave of Absence effective April 28, 2008.
- Res. 79 Lauran A. Weiler, Elementary Teacher Grade 5 at 13th & Union Elementary School, return from Child Rearing Leave of Absence effective May 28, 2008.

Support Staff

- Res. 80 Christina Behm, FT LSS Assistant at Reading High School, return from Child Rearing Leave of Absence effective June 9, 2008.
- **Res. 81** Nia Tenney-Jones, PT Clerk 2 at Tyson Schoener Elementary School, return from Child Rearing Leave of Absence effective May 5, 2008.

Other Actions (Approvals/Ratifications)

- Res. 82 Authorizes the Administration to enter into agreement with WMS Human Resource Management Consultants, King of Prussia, PA, to perform a job study of existing RSAA and RSSSA positions at a cost of up to \$24,000.00 plus expenses (expenses not to exceed \$950.00). The Letter of Agreement / Contract is subject to the Solicitor's review.
- Res. 83 Approves the Superintendent's staffing request for the 2008-09 school year.

A-Res. 83

VOTE ON HUMAN RESOURCES RESOLUTIONS AS LISTED: 9 YEAS: 0 NAYS

YEAS: Mr. Cinfici Mr. Cooper
Mr. Santoro Mr. Stamm
Mr. Storch Ms. Stroman

Ms. Wertz Mr. Breton

Mrs. McCree, President

HUMAN RESOURCES RESOLUTIONS AS LISTED WERE APPROVED.

The Human Resources Committee presented resolution 2 for consideration. The motion was made by Mr. Santoro, and this was seconded by Ms. Wertz.

Res. 2 Cheryl L. Davis, promotion from REA Special Education LS Teacher at Reading High School to RSAA Grade 9 eVice Principal 12-month at Reading High School, effective July 1, 2008, at a salary of \$65,099.00 for the 2008-09 school year.

VOTE ON HUMAN RESOURCES RESOLUTION 2: 7 YEAS; 2 NAYS

YEAS: Mr. Cooper Mr. Santoro
Mr. Storch Ms. Stroman

Ms. Wertz Mr. Breton

Mrs. McCree, President

NAYS: Mr. Cinfici Mr. Stamm

HUMAN RESOURCES RESOLUTION 2 WAS APPROVED.

The Human Resources Committee presented resolution 5 for consideration. The motion was made by Mr. Santoro, and this was seconded by Ms. Wertz.

Res. 5 Thomas S. Persing,, change of status from Assistant Director of Federal Programs/Grants to Grade 9 Vice Principal at Reading High School, effective July 1, 2008, at a salary of \$71,500.00 plus increment for the 2008-09 school year.

VOTE ON HUMAN RESOURCES RESOLUTION 5: 8 YEAS; 1 NAY

YEAS: Mr. Cooper Mr. Santoro

Mr. Stamm Mr. Storch Ms. Stroman Ms. Wertz

Mr. Breton Mrs. McCree, President

NAYS: Mr. Cinfici

HUMAN RESOURCES RESOLUTION 5 WAS APPROVED.

The Human Resources Committee presented resolution 84 for consideration. The motion was made by Mr. Cooper, and this was seconded by Mr. Breton.

Res. 84 Authorizes the Superintendent to hire or replace personnel that do not encumber new or additional funds. This includes all positions below the level of Administrator for the period of June 22, 2008, through the end of the day August 27, 2008.

VOTE ON HUMAN RESOURCES RESOLUTION 84: 7 YEAS; 2 NAYS

YEAS: Mr. Santoro Mr. Storch

Ms. Stroman Ms. Wertz
Mr. Breton Mr. Cooper

Mrs. McCree, President

NAYS: Mr. Stamm Mr. Cinfici

HUMAN RESOURCES RESOLUTION 84 WAS APPROVED.

The Human Resources Committee presented resolutions 85-95 for consideration. The motion was made by Mr. Cooper, and this was seconded by Mr. Santoro.

Instructional

- Res. 85 Craig L. Hoffer, change of status from Long-Term Substitute to Temporary Professional Employee, ISS Teacher at Reading High School, effective August 19, 2008, at a salary of \$36,086.00, TB17 of the 2007-08 salary scale.
- Res. 86 Michael T. Metzger, Temporary Professional Employee, Physical Education Teacher at Reading High School, effective August 19, 2008, at a salary of \$36,086.00, TB17 of the 2007-08 salary scale.
- Res. 87 Amanda J. Smith, Temporary Professional Employee, Elementary Teacher Grade 2 at Lauer's Park Elementary School, effective August 19, 2008, at a salary of \$36,086.00, TB17 of the 2007-08 salary scale.

Support Staff

Res. 88 Ann M. Shellenberger, change of status from PT (810 hours) Lunch Aide at 10th & Penn Elementary School to PT (810 hours) Chief Lunch Aide at 10th & Penn Elementary School, effective May 5, 2008, at an hourly rate of \$7.55.

Resignations/Terminations (Approvals/Ratifications)

Support Staff

- Res. 89 Jill L. Conrad, PT 10-month Parent Outreach at Southwest Middle School, retirement with regrets effective at the end of the day June 13, 2008.
- Res. 90 Loretta L. Foote, PT Lunch Aide at Riverside Elementary School, <u>termination</u> effective at the end of the day May 20, 2008.
- Res. 91 Christine A. Stubblebine, PT Lunch Aide at 16th & Haak Elementary School, resignation with regrets effective at the end of the day May 8, 2008

Leaves of Absence (Approvals/Ratifications)

<u>Instructional</u>

Res. 92 Jocabed Ortiz-Robles, Foreign Language Teacher at Northeast Middle School, Child Rearing Leave of Absence effective October 2, 2008 through the end of the day January 20, 2009.

Support Staff

Res. 93 Rodney G. Lombardo, FT Custodian at Northeast Middle School, General Leave of Absence effective May 8, 2008 through the end of the day June 6, 2008.

Return From Leaves of Absence (Approvals/Ratifications)

Instructional

Res. 94 Cheryl L. Davis, Special Education/LS Teacher at Reading High School, return from Disability Leave of Absence effective May 22, 2008.

Other Actions (Approvals/Ratifications)

Res. 95 Approves Sheila Guadagno Simyak for up to 10 days at her per diem rate to transition to the Reading School District prior to her start date of July 1, 2008.

VOTE ON HUMAN RESOURCES RESOLUTIONS 85-95: 9 YEAS; 0 NAYS

YEAS: Mr. Storch Ms. Stroman

Ms. Wertz Mr. Breton
Mr. Cinfici Mr. Cooper
Mr. Santoro Mr. Stamm

Mrs. McCree, President

HUMAN RESOURCES RESOLUTIONS 85-95 WERE APPROVED.

The Human Resources Committee presented resolution 96 for consideration. The motion was made by Mr. Stamm, and this was seconded by Mr. Storch.

Res. 96 Approves the hiring for the summer of 2008 for the SWEAP Program students from across Berks County.

A-Res. 96

VOTE ON HUMAN RESOURCES RESOLUTION 96: 9 YEAS; 0 NAYS

YEAS: Ms. Stroman Ms. Wertz
Mr. Breton Mr. Cinfici
Mr. Cooper Mr. Santoro
Mr. Stamm Mr. Storch
Mrs. McCree, President

HUMAN RESOURCES RESOLUTION 96 WAS APPROVED.

Curriculum and Technology

The Curriculum and Technology Committee presented a total of 18 resolutions for consideration. They were all voted on together. The motion was made by Mr. Cinfici, and this was seconded by Ms. Wertz.

Res. 1 Authorizes the Administration to approve summer tutoring for all approved students in Reading and Mathematics. Funding will be provided through the Education Assistance Program (EAP) grant. Staff will be compensated for additional time at the contractual hourly rates, not to exceed \$375,000.00.

A-Res.1

Res. 2 Authorizes the Administration to approve summer activities by professional and support staff, including professional development, curriculum work and summer tutoring. Staff will be compensated for additional time at the contractual hourly rates, not to exceed \$280,000.00. All compensation will be paid from Act 48 Professional Development and Title I funds.

SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOUR	HOURLY RATE	TOTAL
ADM.		Science			
BUILDING		Curriculum			
		Gr. 1-5			
	TBA		18 hours	\$21.00	\$378.00
	TBA		18 hours	\$21.00	\$378.00
	TBA		18 hours	\$21.00	\$378.00
	TBA		18 hours	\$21.00	\$378.00
	TBA		18 hours	\$21.00	\$378.00

	TBA TBA TBA TBA		18 hours 18 hours 18 hours	\$21.00 \$21.00 \$21.00 \$21.00	\$378.00 \$378.00 \$378.00 \$378.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
ADM. BUILDING	TBA	Math Curriculum Gr. 3-5	30 hours	\$21.00	\$630.00
	TBA TBA TBA TBA TBA TBA		30 Hours	Ψ21.00	ψ050.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
10 TH & GREEN	Donna Broad	Principals Academy	6 hours	\$21.00	\$126.00
	Kimberly Clarke	J	6 hours	\$21.00	\$126.00
	Valerie Deysher		6 hours	\$21.00	\$126.00
	Stefanie Emes		6 hours	\$21.00	\$126.00
	Stephanie Mendoza		6 hours	\$21.00	\$126.00
	Bethann Pagano)	6 hours	\$21.00	\$126.00
	Wanda		6 hours	\$21.00	\$126.00
	Crespo				·
	Brynn Hollywood		6 hours	\$21.00	\$126.00
	Paula Lucey		6 hours	\$21.00	\$126.00
	Cheryl Lupia		6 hours	\$21.00	\$126.00
	Jennifer Slater		6 hours	\$21.00	\$126.00
	Wendy Ganster		6 hours	\$21.00	\$126.00
	Adrienne		6 hours	\$21.00	\$126.00
	Guinther Sandra		6 hours	\$21.00	\$126.00
	Vought Jason Williams		6 hours	\$21.00	\$126.00

Kelly	6 hours	\$21.00	\$126.00
Youtz			
Lauren	6 hours	\$21.00	\$126.00
Faust			
Cindy	6 hours	\$21.00	\$126.00
Hitchens			
Andrea	6 hours	\$21.00	\$126.00
Mollura			
Karen	6 hours	\$21.00	\$126.00
Osika			
Jaclyn	6 hours	\$21.00	\$126.00
Penecharsky			
Monica	6 hours	\$21.00	\$126.00
Armao			
Chantel	6 hours	\$21.00	\$126.00
Bagenstose			
Shannon	6 hours	\$21.00	\$126.00
Hoffa			
Daniel	6 hours	\$21.00	\$126.00
Mark		·	
Stephanie	6 hours	\$21.00	\$126.00
Berger		·	
Robert	6 hours	\$21.00	\$126.00
Gillespie		·	
Kirsten	6 hours	\$21.00	\$126.00
Stankiewicz	0 0	7	7
Virginia	6 hours	\$21.00	\$126.00
Wolfrum	0 110 0110	Ψ=1.00	Ψ1 = 0.00
Erin	6 hours	\$21.00	\$126.00
Farr	0 110 0110	Ψ=1.00	Ψ1 = 0.00
Cindy	6 hours	\$21.00	\$126.00
Leukus	0 0	7	7
Nina	6 hours	\$21.00	\$126.00
Murphy	0 110 0110	Ψ=1.00	Ψ1 = 0.00
Sherry	6 hours	\$21.00	\$126.00
Brinker	o no dis	Ψ21.00	Ψ120.00
Kathleen	6 hours	\$21.00	\$126.00
Sallade	onours	Ψ21.00	Ψ120.00
Jennifer	6 hours	\$21.00	\$126.00
Born	onours	Ψ21.00	Ψ120.00
Adrienne	6 hours	\$21.00	\$126.00
Derrer	o nours	Ψ21.00	Ψ120.00
Zoe	6 hours	\$21.00	\$126.00
DeHart	onours	ΨΔ1.00	Ψ140.00
J. David	6 hours	\$21.00	\$126.00
Hinkel	onouis	ψ ∠1. 00	Ψ140.00
1 111 INC1			

	Amy Martin		6 hours	\$21.00	\$126.00
	Elaine Wenrich		6 hours	\$21.00	\$126.00
SCHOO	L TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
10 th & GREEN	Stephanie Mendoza	School wide Plan revisions	6 hours	\$21.00	\$126.00
	Cheryl	revisions	6 hours	\$21.00	\$126.00
	Lupia Jason Williams		6 hours	\$21.00	\$126.00
	Cindy Hitchens		6 hours	\$21.00	\$126.00
	Daniel Mark		6 hours	\$21.00	\$126.00
	Robert Gillespie		6 hours	\$21.00	\$126.00
	Cindy Leukus		6 hours	\$21.00	\$126.00
	Andrea Mollura		6 hours	\$21.00	\$126.00
	Sherry Brinker		6 hours	\$21.00	\$126.00
	Kathy Sallade		6 hours	\$21.00	\$126.00
	Jennifer Born		6 hours	\$21.00	\$126.00
	Robin Goodman		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
10 th & PENN	Vicky Garl	Principal Academy	12 hours	\$21.00	\$252.00
	Cory Knack	y	12 hours	\$21.00	\$252.00
	Darlene Baloga		12 hours	\$21.00	\$252.00
	Rachael Webster		12 hours	\$21.00	\$252.00
	Lynn Engle		12 hours	\$21.00	\$252.00
	Katie Altomari		12 hours	\$21.00	\$252.00
	Maryann		12 hours	\$21.00	\$252.00

Gardner			
Liz	12 hours	\$21.00	\$252.00
Hickey			
Gretchen	12 hours	\$21.00	\$252.00
Bonte			
Josie	12 hours	\$21.00	\$252.00
Trexler		***	
Alfred	12 hours	\$21.00	\$252.00
Hauptly	101	Ф 2 1 00	Φ252.00
Sharon	12 hours	\$21.00	\$252.00
Klein	12 hours	\$21.00	\$252.00
James Rule	12 nours	\$21.00	\$232.00
Michelle	12 hours	\$21.00	\$252.00
Anastasio	12 110015	Ψ21.00	Ψ232.00
Dottie	12 hours	\$21.00	\$252.00
Belinski	12 110 0110	Ψ=1.00	Ψ 202. 00
Wendy	12 hours	\$21.00	\$252.00
Moll		·	
Christine	12 hours	\$21.00	\$252.00
Ruhf			
Lisa	12 hours	\$21.00	\$252.00
Amato			
George	12 hours	\$21.00	\$252.00
Dixon		***	
Amie	12 hours	\$21.00	\$252.00
Bennett			
Lisa	12 hours	\$21.00	\$252.00
Folk	12 nours	\$21.00	\$232.00
Jennifer	12 hours	\$21.00	\$252.00
Schwamback	12 110 013	Ψ21.00	φ202.00
Frank	12 hours	\$21.00	\$252.00
Vecchio		·	
Andre	12 hours	\$21.00	\$252.00
White			
Rowbee 'C	12 hours	\$21.00	\$252.00
Kasisky			
Gloria	12 hours	\$21.00	\$252.00
Tobias			
Virginia	12 hours	\$21.00	\$252.00
Houseman	101	Ф 2 1 00	Φ252.00
Nancy	12 hours	\$21.00	\$252.00
Ronca	10 hours	¢2 1 00	¢ 252.00
Doug Hatch	12 hours	\$21.00	\$252.00
Amanda	12 hours	\$21.00	\$252.00
1 Milana	12 110415	ΨΔ1.00	ΨΔυΔ.00

	T 1				
	Edrman Judy Speicher		12 hours	\$21.00	\$252.00
	Travis McClimon		12 hours	\$21.00	\$252.00
	Dara		12 hours	\$21.00	\$252.00
	Miller Danielle		12 hours	\$21.00	\$252.00
	Greene Judy		12 hours	\$21.00	\$252.00
	Speicher Alexandra Booth		12 hours	\$21.00	\$252.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
10 th & PENN	Vicky Garl	Principal	6 hours	\$21.00	\$126.00
r einin	Cory Knack	Academy	6 hours	\$21.00	\$126.00
	Knack Darlene Baloga Rachael Webster		6 hours	\$21.00	\$126.00
			6 hours	\$21.00	\$126.00
	Lynn		6 hours	\$21.00	\$126.00
	Engle Katie		6 hours	\$21.00	\$126.00
	Altomari Maryann		6 hours	\$21.00	\$126.00
	Gardner Liz		6 hours	\$21.00	\$126.00
	Hickey Gretchen		6 hours	\$21.00	\$126.00
	Bonte Josie		6 hours	\$21.00	\$126.00
	Trexler Alfred		6 hours	\$21.00	\$126.00
	Hauptly Sharon		6 hours	\$21.00	\$126.00
Klein James	James		6 hours	\$21.00	\$126.00
	Rule Michelle		6 hours	\$21.00	\$126.00
	Anastasio Dottie Belinski		6 hours	\$21.00	\$126.00

	Wendy		6 hours	\$21.00	\$126.00
	Moll Christine Ruhf		6 hours	\$21.00	\$126.00
	Lisa Amato		6 hours	\$21.00	\$126.00
	George Dixon		6 hours	\$21.00	\$126.00
	Amie Bennett		6 hours	\$21.00	\$126.00
	Lisa Folk		6 hours	\$21.00	\$126.00
	Jennifer Schwamback		6 hours	\$21.00	\$126.00
	Frank Vecchio		6 hours	\$21.00	\$126.00
	Andre White		6 hours	\$21.00	\$126.00
	Rowbee' CKasisky		6 hours	\$21.00	\$126.00
	Gloria Tobias		6 hours	\$21.00	\$126.00
	Virginia Houseman		6 hours	\$21.00	\$126.00
	Nancy Ronca		6 hours	\$21.00	\$126.00
	Doug Hatch		6 hours	\$21.00	\$126.00
	Amanda Edrman		6 hours	\$21.00	\$126.00
	Judy Speicher		6 hours	\$21.00	\$126.00
	Travis McClimon		6 hours	\$21.00	\$126.00
	Dara Miller		6 hours	\$21.00	\$126.00
	Danielle Greene		6 hours	\$21.00	\$126.00
	Alexandra Booth		6 hours	\$21.00	\$126.00
SCHOOL	TEACHER NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
10th & Penn		Leadership to assess	4 hours	\$21.00	\$84.00
	Virginia Houseman	Guidance on use of Curr			

		Materials			
	Jennifer Schwamback	Materials	4 hours	\$21.00	\$84.00
	Andre White		4 hours	\$21.00	\$84.00
	Lisa Folk		4 hours	\$21.00	\$84.00
SCHOOL 10 TH & PENN	TEACHER NAME Virginia Houseman Jennifer Schwamback Andre White Lisa	ACTIVITY Pre-Analysis of the PSSA	NUMBER OF HOURS 4 hours 4 hours 4 hours	HOULY RATE \$21.00 \$21.00 \$21.00	TOTAL \$84.00 \$84.00 \$84.00
	Folk		THOUS	Ψ21.00	ψ01.00
SCHOOL 10 TH & PENN	NAME 10 TH &	ACTIVITY Determine the use of	NUMBER OF HOURS 4 hours	HOURLY RATE \$21.00	TOTAL \$84.00
	Garl George Dixon	specialists	4 hours	\$21.00	\$84.00
	RowBee' C Kasisky		4 hours	\$21.00	\$84.00
	Lisa Amato		4 hours	\$21.00	\$84.00
	Michelle Anastasio		4 hours	\$21.00	\$84.00
	Jennifer Schwambach		4 hours	\$21.00	\$84.00
	Andrea White		4 hours	\$21.00	\$84.00
	Lisa Folk		4 hours	\$21.00	\$84.00
SCHOOL TEACHER NAME 10 TH & Debbie PENN Foley	ACTIVITY Project for Safety Policy	NUMBER OF HOURS 4 hours	HOURLY RATE \$21.00	TOTAL \$84.00	
7 171 17	Virginia Houseman	carety I oney	4 hours	\$21.00	\$84.00
RowBee' C Kasisky		4 hours	\$21.00	\$84.00	

	Kim Reber		4 hours	\$21.00	\$84.00
	Michelle Anastasio		4 hours	\$21.00	\$84.00
	Jennifer Schwambach		4 hours	\$21.00	\$84.00
	Andrea White		4 hours	\$21.00	\$84.00
	Lisa Folk		4 hours	\$21.00	\$84.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
10 th & PENN	Amanda Erdman	School Wide Discipline	4 hours	\$21.00	\$84.00
	Dara Miller	Program	4 hours	\$21.00	\$84.00
Dottie Dottie Beliniski Judy Speicher	Dottie		4 hours	\$21.00	\$84.00
		4 hours	\$21.00	\$84.00	
	RowBee'C Kasisky		4 hours	\$21.00	\$84.00
	Jennifer Schwambach		4 hours	\$21.00	\$84.00
	Vicky Garl		4 hours	\$21.00	\$84.00
	Nancy Ronca		4 hours	\$21.00	\$84.00
	Josie Trexler		4 hours	\$21.00	\$84.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
10 th & PENN	Josie Trexler	Science/SS with the Harcourt	4 hours	\$21.00	\$84.00
	Virginia Houseman	Tiarcourt	4 hours	\$21.00	\$84.00
RowBee 'C			4 hours	\$21.00	\$84.00
	Dara Miller		4 hours	\$21.00	\$84.00
	Cory Knack		4 hours	\$21.00	\$84.00
	Jim		4 hours	\$21.00	\$84.00

	D 1				
Tara	Rule Tara Koppenberg		4 hours	\$21.00	\$84.00
	Lisa Folk		4 hours	\$21.00	\$84.00
Danie	Danielle		4 hours	\$21.00	\$84.00
	Greene Judy		4 hours	\$21.00	\$84.00
	Speicher Lynn		4 hours	\$21.00	\$84.00
	Engle Rachael Webster		4 hours	\$21.00	\$84.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
10 TH & PENN	Vicky Garl	Grading Procedure for grades level	4 hours	\$21.00	\$84.00
	RowBee C'	level	4 hours	\$21.00	\$84.00
	Kasisky Katie		4 hours	\$21.00	\$84.00
	Altomarie Michelle		4 hours	\$21.00	\$84.00
	Anastasio Jennifer Schwambach		4 hours	\$21.00	\$84.00
	Andrea White		4 hours	\$21.00	\$84.00
	Lisa Folk		4 hours	\$21.00	\$84.00
	Amie Bennet		4 hours	\$21.00	\$84.00
	Gretchen Bonte		4 hours	\$21.00	\$84.00
	Maryann Gardner		4 hours	\$21.00	\$84.00
	Jim		4 hours	\$21.00	\$84.00
	Rule Dottie		4 hours	\$21.00	\$84.00
	Belinski Cory		4 hours	\$21.00	\$84.00
	Knack Alfred		4 hours	\$21.00	\$84.00
	Hauptly Amanda		4 hours	\$21.00	\$84.00

Erdman

SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
10 th & PENN	Vicky	Coordinate	4 hours	\$21.00	\$84.00
I	Garl Katie Altomarie	Reading/Math	4 hours	\$21.00	\$84.00
	Michelle		4 hours	\$21.00	\$84.00
Anastasio Jennifer Schwambach		4 hours	\$21.00	\$84.00	
	Andrea		4 hours	\$21.00	\$84.00
	White Lisa Folk		4 hours	\$21.00	\$84.00
	Amie		4 hours	\$21.00	\$84.00
	Bennett Gretchen		4 hours	\$21.00	\$84.00
	Bonte Maryann		4 hours	\$21.00	\$84.00
	Gardner Jim		4 hours	\$21.00	\$84.00
	Rule Dottie Belinski		4 hours	\$21.00	\$84.00
	Cory		4 hours	\$21.00	\$84.00
	Knack Alfred Hauptly		4 hours	\$21.00	\$84.00
	Amanda Erdman		4 hours	\$21.00	\$84.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
10 th & PENN	TUTUL	Grading procedure for	4 hours	\$21.00	\$84.00
	Vicky	obtaining			
	Garl Katie Altomarie Michelle Anastasio Jennifer	grades level	4 hours	\$21.00	\$84.00
			4 hours	\$21.00	\$84.00
			4 hours	\$21.00	\$84.00
	Schwambach Andrea		4 hours	\$21.00	\$84.00

	White Lisa Folk Amie		4 hours	\$21.00	\$84.00
	Bennett Gretchen Bonte		4 hours	\$21.00	\$84.00
	MaryAnn		4 hours	\$21.00	\$84.00
	Gardner Jim		4 hours	\$21.00	\$84.00
	Rule Dottie		4 hours	\$21.00	\$84.00
	Belinski Cory		4 hours	\$21.00	\$84.00
	Knack Alfred		4 hours	\$21.00	\$84.00
	Hauptly Amanda Erdman		4 hours	\$21.00	\$84.00
SCHOOL	TEACHERS	ACTIVITY	NUMBER	HOURLY	TOTAL
10 TH & PENN	NAME Josie Trexler Virginia	Leadership to develop math and language art	OF HOURS 4 hours	RATE \$21.00	\$84.00
			4 hours	\$21.00	\$84.00
	Houseman RowBee 'C		4 hours	\$21.00	\$84.00
	Kasisky Dara		4 hours	\$21.00	\$84.00
	Miller Cory		4 hours	\$21.00	\$84.00
	Knack Jim		4 hours	\$21.00	\$84.00
	Rule Tara		4 hours	\$21.00	\$84.00
	Koppenberg Lisa		4 hours	\$21.00	\$84.00
	Folk Danielle Greene Judy Speicher Lynn		4 hours	\$21.00	\$84.00
			4 hours	\$21.00	\$84.00
			4 hours	\$21.00	\$84.00
	Engle Rachael Webster		4 hours	\$21.00	\$84.00
	. , 525,61				

	Vicky		4 hours	\$21.00	\$84.00
	Garl Katie		4 hours	\$21.00	\$84.00
	Altomarie Jennifer Schwambach		4 hours	\$21.00	\$84.00
	Andrea White		4 hours	\$21.00	\$84.00
	Amie Bennett		4 hours	\$21.00	\$84.00
	Gretchen Bonte		4 hours	\$21.00	\$84.00
	MaryAnn Gardner		4 hours	\$21.00	\$84.00
	Dottie Belinski		4 hours	\$21.00	\$84.00
	Alfred Hauptly		4 hours	\$21.00	\$84.00
	Amanda Erdman		4 hours	\$21.00	\$84.00
	Michelle Anastasio		4 hours	\$21.00	\$84.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
SCHOOL 12 TH & MARION	TEACHERS NAME	ACTIVITY Math Differentiation Phonenic	NUMBER OF HOURS 6 hours	HOURLY RATE \$21.00	TOTAL \$126.00
12 TH &	NAME Deborah	Math Differentiation Phonenic Awarness	OF HOURS	RATE	
12 TH &	NAME	Math Differentiation Phonenic	OF HOURS	RATE	
12 TH &	NAME Deborah McCauley Dawn Wenzel April	Math Differentiation Phonenic Awarness	OF HOURS 6 hours	RATE \$21.00	\$126.00
12 TH &	Deborah McCauley Dawn Wenzel April Matz Cindy	Math Differentiation Phonenic Awarness	OF HOURS 6 hours 6 hours	RATE \$21.00 \$21.00	\$126.00 \$126.00
12 TH &	Deborah McCauley Dawn Wenzel April Matz Cindy Theodore Kate	Math Differentiation Phonenic Awarness	OF HOURS 6 hours 6 hours	RATE \$21.00 \$21.00 \$21.00	\$126.00 \$126.00 \$126.00
12 TH &	Deborah McCauley Dawn Wenzel April Matz Cindy Theodore Kate Brenner Diane	Math Differentiation Phonenic Awarness	OF HOURS 6 hours 6 hours 6 hours	\$21.00 \$21.00 \$21.00 \$21.00	\$126.00 \$126.00 \$126.00
12 TH &	Deborah McCauley Dawn Wenzel April Matz Cindy Theodore Kate Brenner Diane Gerson Jennifer	Math Differentiation Phonenic Awarness	OF HOURS 6 hours 6 hours 6 hours 6 hours	\$21.00 \$21.00 \$21.00 \$21.00 \$21.00	\$126.00 \$126.00 \$126.00 \$126.00
12 TH &	Deborah McCauley Dawn Wenzel April Matz Cindy Theodore Kate Brenner Diane Gerson	Math Differentiation Phonenic Awarness	OF HOURS 6 hours 6 hours 6 hours 6 hours 6 hours	\$21.00 \$21.00 \$21.00 \$21.00 \$21.00 \$21.00	\$126.00 \$126.00 \$126.00 \$126.00 \$126.00

	Carolyn		6 hours	\$21.00	\$126.00
	Miller Lyn		6 hours	\$21.00	\$126.00
	Swartz Christine		6 hours	\$21.00	\$126.00
	MCallister Sharon		6 hours	\$21.00	\$126.00
	Majesky Judith		6 hours	\$21.00	\$126.00
	Treichler Ashley		6 hours	\$21.00	\$126.00
	Marshell Anne		6 hours	\$21.00	\$126.00
	Johnson Debra		6 hours	\$21.00	\$126.00
	Schwenk Jennie		6 hours	\$21.00	\$126.00
	Hadfield Stephanie		6 hours	\$21.00	\$126.00
	Lynn Tracey		6 hours	\$21.00	\$126.00
	Grabowski Kevin		6 hours	\$21.00	\$126.00
	Collins Cynthia		6 hours	\$21.00	\$126.00
	Hiyak Rashel		6 hours	\$21.00	\$126.00
	Szoke Migdalia		6 hours	\$21.00	\$126.00
	Peterson Shane		6 hours	\$21.00	\$126.00
	Schlosberg Cyndi		6 hours	\$21.00	\$126.00
	Smith Elisa		6 hours	\$21.00	\$126.00
	Wonderly Jennifer De		6 hours	\$21.00	\$126.00
	Mello Tina		6 hours	\$21.00	\$126.00
	Buchter Krista		6 hours	\$21.00	\$126.00
	Leaf Susan Dougherby		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL

12 TH & MARION	Migdalia Peterson Lynn Swartz Carolyn Miller	Create Accelerated Reading plan	12 hours 12 hours 12 hours	\$21.00 \$21.00 \$21.00	\$252.00 \$252.00 \$252.00
SCHOOL 12 TH & MARION	TEACHERS NAME Debra Schwenk	ACTIVITY 1st Gr. Parent academy DIBELS	NUMBER OF HOURS 15 hours	HOURLY RATE \$21.00	TOTAL \$315.00
SCHOOL 12 TH & MARION	TEACHERS NAME Debra Schwenk	ACTIVITY Templates, cumulative folder check	NUMBR OF HOURS 5 hours	HOURLY RATE \$21.00	TOTAL \$105.00
SCHOOL 12 TH & MARION	TEACHERS NAME Debra Schwenk	ACTIVITY Coding Categorizing	NUMBER OF HOURS 15 hours	HOURLY RATE \$21.00	TOTAL \$315.00
SCHOOL 12 TH &	TEACHERS NAME Dann	ACTIVITY Reviewing	NUMBER OF HOURS 5 hours	HOURLY RATE \$21.00	TOTAL \$105.00
MARION	Wenzel Jen	Com folders	5 hours	\$21.00	\$105.00
	Lengel Janet Setlock Anne Johnson		5 hours 5 hours	\$21.00 \$21.00	\$105.00 \$105.00
	Jenny Hadfield Shane		5 hours	\$21.00 \$21.00	\$105.00 \$105.00
	Schlosberg		OHOUIS	ΨΔ1.00	ψ100.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
12 TH &	Judy	Create	10 hours	\$21.00	\$210.00

MARION	Treichler	Span/Eng Library A-Z			
SCHOOL 12 TH & MARION	TEACHERS NAME	ACTIVTY Preparation Curriculum develop	NUMBER OF HOURS 6 hours	HOURLY RATE \$21.00	TOTAL \$126.00
	Hiyak Debra Schwenk April Matz	plan 3,4,5	6 hours	\$21.00 \$21.00	\$126.00 \$126.00
SCHOOL 12 TH & MARION	TEACHERS NAME April Matz	ACTIVITY Parent involved on nights 2008-2009	NUMBER OF HOURS 3 hours	HOURLY RATE \$21.00	TOTAL \$63.00
	Cindy Hiryak Deb Schwank Judy Treichler		3 hours 3 hours	\$21.00 \$21.00 \$21.00	\$63.00 \$63.00 \$63.00
SCHOOL 12 TH & MARION	TEACHERS NAME Jennifer Lengel Ann	ACTIVITY Plan & organized 1st gr. Instruction	NUMBER OF HOURS 6 hours	HOURLY RATE \$21.00	TOTAL \$126.00 \$126.00
	Johnson Dawn Wenzel Janet Settock Shane Schlosberg Jennie Hadfield		6 hours 6 hours 6 hours	\$21.00 \$21.00 \$21.00 \$21.00	\$126.00 \$126.00 \$126.00 \$126.00
SCHOOL 12 TH & MARION	TEACHERS NAME TBA	ACTIVITY Create Voc. Cards to	NUMBER OF HOURS 5 hours	HOURLY RATE \$21.00	TOTAL \$105.00

	TBA TBA TBA TBA	correlate with PSSA/4 SIGHT	5 hours 5 hours 5 hours 5 hours	\$21.00 \$21.00 \$21.00 \$21.00	\$105.00 \$105.00 \$105.00 \$105.00
	Smith Kern		5 hours	\$21.00	\$105.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
12 TH & MARION	TBA	Voc. Cards to correlate w/GMADE	5 hours	\$21.00	\$105.00
	TBA	,	5 hours		\$105.00
	TBA		5 hours	\$21.00	\$105.00
	TBA		5 hours	\$21.00	\$105.00
	TBA		5 hours	\$21.00	\$105.00
	Smith Kern		5 hours	\$21.00	\$105.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
12 TH & MARION	Debra Schwenk	Updating the School Improvement Plan	8 hours	\$21.00	\$168.00
	Cyndi Smith-Kern		8 hours	\$21.00	\$168.00
	Cindy Hiryak		8 hours	\$21.00	\$168.00
	April Matz		8 hours	\$21.00	\$168.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
13™ &	Brian	Behavior	4 hours	\$21.00	\$84.00
GREEN	Kepner	incentive program		·	
	Valerie Garvin	1 0	4 hours	\$21.00	\$84.00
	Laura Fancabondera		4 hours	\$21.00	\$84.00
	Melind Bender		4 hours	\$21.00	\$84.00
SCHOOL	TEACHERS	ACTIVITY	NUMBER	HOURLY	TOTAL

13 ^{тн} & GREEN	NAME Jeanne	Learning support ELA Reading Block and	OF HOURS 6 hours	RATE \$21.00	\$126.00
	Blum Valerie Garvin	Intervention	6 hours	\$21.00	\$126.00
	Laura Francabandera		6 hours	\$21.00	\$126.00
	Christine Reichardt		6 hours	\$21.00	\$126.00
	Allison Garner		6 hours	\$21.00	\$126.00
	Christine Houck		6 hours	\$21.00	\$126.00
	Felicia Owens		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
13 TH & GREEN	Allison Garner	Revised Getting Results Plan	6 hours	\$21.00	\$210.00
	Jeanne Blum		6 hours	\$21.00	\$210.00
	Christine Houck		6 hours	\$21.00	\$210.00
	Felicia Owens		6 hours	\$21.00	\$210.00
	Christine Reichardt		6 hours	\$21.00	\$210.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
13 th & GREEN	Kristy Kuhns	Final inclusion plan for 3 rd	6 hours	\$21.00	\$126.00
	Lynn Bucher	plant for 3	6 hours	\$21.00	\$126.00
	Pamela Yoe		6 hours	\$21.00	\$126.00
	Geraldine Nemirow		6 hours	\$21.00	\$126.00
	Debra Radomski		6 hours	\$21.00	\$126.00
	Sabrina		6 hours	\$21.00	\$126.00

Ciabatonni

SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
13 th & GREEN	Jeanne Blum	Organized resource room & materials	6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBRE OF HOURS	HOURLY RATE	TOTAL
13 th & GREEN	Christine	Organized guided reading TE's to easy	20 hours	\$21.00	\$420.00
	Reichardt Christine Houck	index	20 hours	\$21.00	\$420.00
	Jeanne Blum Allison Garner		20 hours 20 hours	\$21.00 \$21.00	\$420.00 \$420.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
13 TH & GREEN	Moises Rivera	Final plan and lessons for this block	5 hours	\$21.00	\$105.00
	Erik Baumener	DIOCK	5 hours	\$21.00	\$105.00
	Joe Potteiger Felicia Owens		5 hours 5 hours	\$21.00 \$21.00	\$105.00 \$105.00
	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
13 th & UNION	Marvanne Kouvaros	Principal Academy	6 hours	\$21.00	\$126.00
	Nicole Berry	, and the second	6 hours	\$21.00	\$126.00
	Susan Shober		6 hours	\$21.00	\$126.00
	Emily Snyder		6 hours	\$21.00	\$126.00
	Sarah Netter		6 hours	\$21.00	\$126.00
	Nicole Sherman		6 hours	\$21.00	\$126.00

	Catherine Oravec		6 hours	\$21.00	\$126.00
	Susan Bitler		6 hours	\$21.00	\$126.00
	Alyssa Ledbetter		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
13 th & UNION	Amy McDade	Principal Academy	6 hours	\$21.00	\$126.00
	Juliann Pondo	·	6 hours	\$21.00	\$126.00
	Patice Runkle		6 hours	\$21.00	\$126.00
	Lyndsay Woods		6 hours	\$21.00	\$126.00
	Danielle D'Ercole		6 hours	\$21.00	\$126.00
	Katharine		6 hours	\$21.00	\$126.00
	Bauchanan Sherlene		6 hours	\$21.00	\$126.00
	Evans Sandra Kalnoski		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS	ACTIVITY	NUMBER	HOURLY	TOTAL
13 TH & UNION	NAME Margie Shearer	2008-2009 School	OF HOURS 8 hours	RATE \$21.00	\$168.00
	Melissa	Improvement	8 hours	\$21.00	\$168.00
	Houptly			•	•
	Debra Wierzbidiz		8 hours	\$21.00	\$168.00
	Patricia Layos		8 hours	\$21.00	\$168.00
	Inst Coach TBA		8 hours	\$21.00	\$168.00
	Chris		8 hours	\$21.00	\$168.00
	Dewar MayAnne O'Neill		8 hours	\$21.00	\$168.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
13™ &	Brook	Principal	6 hours	\$21.00	\$126.00

UNION	Dower Amy Summer Alfreda Dierolf Susan Lesher Theodore Robidas Kristen Quimby Jennifer Wocklish Kristen Ciemiewcz Christine Dewar	Academy	6 hours	\$21.00 \$21.00 \$21.00 \$21.00 \$21.00 \$21.00 \$21.00 \$21.00	\$126.00 \$126.00 \$126.00 \$126.00 \$126.00 \$126.00 \$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
13 TH &	Joy	Principal	6 hours	\$21.00	\$126.00
Barbara	Post Barbara Hall	Academy	6 hours	\$21.00	\$126.00
	Michael		6 hours	\$21.00	\$126.00
Trymbiski Lauren Hoodak	Lauren		6 hours	\$21.00	\$126.00
	Michael		6 hours	\$21.00	\$126.00
	Benning Lauran Weiler		6 hours	\$21.00	\$126.00
	Shannon Duff		6 hours	\$21.00	\$126.00
	Desiree Dry		6 hours	\$21.00	\$126.00
	Kelly Rivera		6 hours	\$21.00	\$126.00
TOTAL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
13 TH &	Joanne	Principal	6 hours	\$21.00	\$126.00
UNIION	Flemming Jennifer	Academy	6 hours	\$21.00	\$126.00
	Nattress Heather		6 hours	\$21.00	\$126.00

	McGovern				
	Lori		6 hours	\$21.00	\$126.00
	Shuart Linda McLean		6 hours	\$21.00	\$126.00
	Elizabeth Whitehouse		6 hours	\$21.00	\$126.00
	Jane Corroon		6 hours	\$21.00	\$126.00
	Cynthia Clapperton		6 hours	\$21.00	\$126.00
	MaryAnn O'Neill		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
13 TH & UNION	Debra Minning	Principal Academy	6 hours	\$21.00	\$126.00
CIVICIV	Margie Shearer		6 hours	\$21.00	\$126.00
	Melissa Houpltey		6 hours	\$21.00	\$126.00
	Patricia Layos		6 hours	\$21.00	\$126.00
	Debra Wierzbicki		6 hours	\$21.00	\$126.00
	Geraldine Gammel Barbara Cimochowski		6 hours	\$21.00	\$126.00
			6 hours	\$21.00	\$126.00
	Elizabeth Rimby		6 hours	\$21.00	\$126.00
	Howard Snyder		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVTY	NUMBER OF HOURS	HOURLY RATE	TOTAL
13 TH & UNION	Kathleen Pallette	Principal Academy	6 hours	\$21.00	\$126.00
UNION	Veronica Caffarello	Academy	6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
AMANDA STOUT	Joseph McDevitt	School Improvement	15 hours	\$21.00	\$315.00

		Plan			
	Chri Lis	1 WII	15 hours	\$21.00	\$315.00
	Tania Heckman Erin		15 hours	\$21.00	\$315.00
			15 hours	\$21.00	\$315.00
	Brown Kimberly		15 hours	\$21.00	\$315.00
	Rankin Cynthia Nipper Nadine Poper		15 hours	\$21.00	\$315.00
			15 hours	\$21.00	\$315.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
AMANDA STOUT	Idalmy Naylor	Updating School Policies & Procedures	15 hour	\$21.00	\$315.00
	Jennifer Sell		15 hour	\$21.00	\$315.00
	Mike Adam		15 hour	\$21.00	\$315.00
	Jennifer Kieffer		15 hour	\$21.00	\$315.00
	Cathy Brenner		15 hour	\$21.00	\$315.00
	Mark Lash		15 hour	\$21.00	\$315.00
	Keriellen Heydt		15 hour	\$21.00	\$315.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
AMANDA STOUT	Kimberly Rankin	Aligning leveled readers non- fiction test (Harcourt)	10 hours	\$21.00	\$210.00
	Melissa Moyer	(-10100011)	10 hours	\$21.00	\$210.00
	Sara Mengel		10 hours	\$21.00	\$210.00
	Idalmy Naylor		10 hours	\$21.00	\$210.00

W Ca	Denise Williams	10 hours		\$21.00		210.00		
	Carolyn Salisbury		10 ho	ours	\$21	.00	\$2	10.00
SCHOOL	TEACHERS NAME	ACTIVITY		NUMBE OF HOURS	R	HOURLY RATE		TOTAL
GLENSIDE	Darlene Baloga	Inclusion/Stop/ Teaching	/Co-	6.5		\$21.00		\$136.50
	Andrea Eriksen Debra Redcay			6.5		\$21.00		\$136.50
				6.5		\$21.00		\$136.50
	Jeffrey Kochubka			6.5		\$21.00	1	\$136.50
	Kathy Sassaman			6.5		\$21.00		\$136.50
	Kelly Billinger			6.5		\$21.00		\$136.50
	Noelle Cataldi-Fick			6.5		\$21.00	1	\$136.50
	Melinda Burkman			6.5		\$21.00		\$136.50
	Melanie Fretz			6.5		\$21.00	1	\$136.50
	Stacy Moyer			6.5		\$21.00	1	\$136.50
	Danielle Carman			6.5		\$21.00	1	\$136.50
	Angel Conrad			6.5		\$21.00		\$136.50
	Ann Keller			6.5		\$21.00	1	\$136.50
	Heather Foster			6.5		\$21.00	1	\$136.50
	Rachael Hoffman			6.5		\$21.00		\$136.50
	Mandy Wampole			6.5		\$21.00		\$136.50
	Pamela Roberts			6.5		\$21.00		\$136.50
	Constance Reicher-			6.5		\$21.00	1	\$136.50
	Madden Leslie Phillips			6.5		\$21.00		\$136.50

	Lisa		6.5	\$21.00	\$136.50
	Sinnamon		. -	#24 00	440 (5 0
	Rebecca		6.5	\$21.00	\$136.50
	Moser		<i>.</i> .	Ф21 00	Φ1 2 (F 0
	Kyla		6.5	\$21.00	\$136.50
	Ramsey Traci		6.5	\$21.00	¢126 50
	Tucker		0.5	\$21.00	\$136.50
	Melissa		6.5	\$21.00	\$136.50
	Cock		0.5	Ψ21.00	Ψ130.50
	Janet		6.5	\$21.00	\$136.50
	Battaglieri		o .c	Ψ=1.00	Ψ100 .0 0
	Alexandra		6.5	\$21.00	\$136.50
	Booth			·	•
	Helen		6.5	\$21.00	\$136.50
	Stevenson				
	Travis		6.5	\$21.00	\$136.50
	McClimon				
	Stephanie		6.5	\$21.00	\$136.50
	Towles				
	Lauren		6.5	\$21.00	\$136.50
	Reagan			** 4 00	4.6.5
	Jessica		6.5	\$21.00	\$136.50
	Lucas		<i>.</i> .	Ф21 00	Φ1 2 (F 0
	Patrice		6.5	\$21.00	\$136.50
	McCall Kim		6.5	¢21 00	¢126 E0
	Deibert		6.5	\$21.00	\$136.50
	Yvonne		6.5	\$21.00	\$136.50
	Dorsey		0.5	Ψ21.00	Ψ130.50
	Jana		6.5	\$21.00	\$136.50
	Estep			+	7 - 2 3 3 3
	1				
SCHOOL	TEACHERS	ACTIVITY	NUMBER	HOURLY	TOTAL
	NAME		OF HOURS	RATE	
GLENSIDE	Kim	Revision of	6 hours	\$21.00	\$126.00
	Deibert	SIP Reading			
	Kyla		6 hours	\$21.00	\$126.00
	Ramsey				
	Pat 1		6 hours	\$21.00	\$126.00
	McCall		<i>c</i> 1	Ф21 00	ф 12 6 00
	Stacy		6 hours	\$21.00	\$126.00
	Moyer Debra		6 hours	¢2 1 00	¢1 26 00
	Redcay		onours	\$21.00	\$126.00
	Reucay				

SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
GLENSIDE	Heather Foster	Revision of SIP Math	6 hours	\$21.00	\$126.00
	Mandy Wampole	on man	6 hours	\$21.00	\$126.00
	Angel Conrad		6 hours	\$21.00	\$126.00
	Kathy Sassaman		6 hours	\$21.00	\$126.00
	Noeile Cataldi-Fick		6 hours	\$21.00	\$126.00
	Jessica Lucas		6 hours	\$21.00	\$126.00
	Kelly Billinger		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
GLENSIDE	Leslie	Inclusion Intermediate	6 hours	\$21.00	\$126.00
	Philips Connie Madden	action Plan	6 hours	\$21.00	\$126.00
	Mandy Wampole		6 hours	\$21.00	\$126.00
	Kim Deibert		6 hours	\$21.00	\$126.00
	Kyla Ramsey		6 hours	\$21.00	\$126.00
	Yvonne Dorsey		6 hours	\$21.00	\$126.00
	Stephanie Towles		6 hours	\$21.00	\$126.00
	Heather Foster		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
GLENSIDE	Noelle Fick	Inclusion Primary Action	6 hours	\$21.00	\$126.00
	Pam Roberts	renon	6 hours	\$21.00	\$126.00
	Jessica Lucas		6 hours	\$21.00	\$126.00
	Melanie		6 hours	\$21.00	\$126.00
	Fretz Angel Conrad		6 hours	\$21.00	\$126.00

	Stacy Moyer		6 hours	\$21.00	\$126.00
	Becky Moser		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
GLENSIDE	Jessica Lucas	Data review 90% DIBELS	6 hours	\$21.00	\$126.00
	Debra Redcay		6 hours	\$21.00	\$126.00
	Jeffrey Kochubka		6 hours	\$21.00	\$126.00
	Andrea Erikson		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
GLENSIDE	Steph Towels		6 hours	\$21.00	\$126.00
	Angel Conrad		6 hours	\$21.00	\$126.00
	Noelle Fick		6 hours	\$21.00	\$126.00
	Kathy Sessaman		6 hours	\$21.00	\$126.00
	Mandy Wampler		6 hours	\$21.00	\$126.00
	Deb Redcay Redcay		6 hours	\$21.00	\$126.00
	Heather Foster		6 hours	\$21.00	\$126.00
	Yvonne Dorsey		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
GLENSIDE	Noelle Fick	Revision of Title I Parent SIP Plan	6 hours	\$21.00	\$126.00
	Angel Conrad	SII TIGII	6 hours	\$21.00	\$126.00
	Heather Foster		6 hours	\$21.00	\$126.00
	Kyla Ramsey		6 hours	\$21.00	\$126.00
	Pam Roberts		6 hours	\$21.00	\$126.00

	Leslie Philips		6 hours	\$21.00	\$126.00
	Stephanie Towles		6 hours	\$21.00	\$126.00
	Danielle Carman		6 hours	\$21.00	\$126.00
SCHOOL GLENDSIDE	TEACHERS NAME Kim	ACTIVITY Create	NUMBER OF HOURS 6 hours	HOURLY RATE \$21.00	TOTAL \$126.00
GLENDSIDE	Deibert	Intervention Schedule	onours	Φ21.00	φ120.00
	Pat McCall	Seriedare	6 hours	\$21.00	\$126.00
	Jess Deibert		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
TYSON SCHOENER		Summer Activity Power Teaching Sheltered	18 hours	\$21.00	\$378.00
D: Sh	Laura Diesinger				
	Shannalyn Sweigart		9 hours	\$21.00	\$189.00
	Rodney Winkelspecht Amanda Natale		9 hours	\$21.00	\$189.00
			9 hours	\$21.00	\$189.00
	Sarah Rothermel		9 hours	\$21.00	\$189.00
	April Groft		9 hours	\$21.00	\$189.00
	Hannah Strunk		9 hours	\$21.00	\$189.00
	Angel Zimmerman		9 hours	\$21.00	\$189.00
	JoAnn Lightman		9 hours	\$21.00	\$189.00
	Robin Scarpaci		9 hours	\$21.00	\$189.00
	Debra Cesare		9 hours	\$21.00	\$189.00
	Chris Halliday		9 hours	\$21.00	\$189.00
	Michelle		9 hours	\$21.00	\$189.00

	Petrizzo				
	Christine Stauffer		9 hours	\$21.00	\$189.00
	Christine Paige		9 hours	\$21.00	\$189.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
TYSON	Janet	Dev. Of Plan	6 hours	\$21.00	\$126.00
SCHOENER	Cooper Lori Flamm	2008-2009	6 hours	\$21.00	\$126.00
	Linda Jones		6 hours	\$21.00	\$126.00
	Tracey Therrien		6 hours	\$21.00	\$126.00
	David VanFossen		6 hours	\$21.00	\$126.00
	JoAnn Lightman		6 hours	\$21.00	\$126.00
	Onerys Encarcion		6 hours	\$21.00	\$126.00
	Effectiviti				
SCHOOL	TEACHERS	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
TYSON	TEACHERS NAME Hannah	Dev. Of Plan	NUMBER OF HOURS 6 hours	HOURLY RATE \$21.00	TOTAL \$126.00
	TEACHERS NAME		OF HOURS	RATE	
TYSON	TEACHERS NAME Hannah Strunk Michelle Petrizzo JoAnn	Dev. Of Plan	OF HOURS 6 hours	RATE \$21.00	\$126.00
TYSON	TEACHERS NAME Hannah Strunk Michelle Petrizzo JoAnn Lightman Chris	Dev. Of Plan	OF HOURS 6 hours	RATE \$21.00 \$21.00	\$126.00 \$126.00
TYSON	TEACHERS NAME Hannah Strunk Michelle Petrizzo JoAnn Lightman Chris Halliday Christine	Dev. Of Plan	OF HOURS 6 hours 6 hours	RATE \$21.00 \$21.00 \$21.00	\$126.00 \$126.00 \$126.00
TYSON	TEACHERS NAME Hannah Strunk Michelle Petrizzo JoAnn Lightman Chris Halliday Christine Stauffer Laura	Dev. Of Plan	OF HOURS 6 hours 6 hours 6 hours	RATE \$21.00 \$21.00 \$21.00 \$21.00	\$126.00 \$126.00 \$126.00 \$126.00
TYSON	TEACHERS NAME Hannah Strunk Michelle Petrizzo JoAnn Lightman Chris Halliday Christine Stauffer	Dev. Of Plan	OF HOURS 6 hours 6 hours 6 hours 6 hours	RATE \$21.00 \$21.00 \$21.00 \$21.00	\$126.00 \$126.00 \$126.00 \$126.00 \$126.00
TYSON	TEACHERS NAME Hannah Strunk Michelle Petrizzo JoAnn Lightman Chris Halliday Christine Stauffer Laura Diesinger April Groft TEACHERS	Dev. Of Plan	OF HOURS 6 hours 6 hours 6 hours 6 hours 6 hours 6 hours NUMBER	RATE \$21.00 \$21.00 \$21.00 \$21.00 \$21.00 \$21.00 \$21.00 HOURLY	\$126.00 \$126.00 \$126.00 \$126.00 \$126.00
TYSON SCHOENER	TEACHERS NAME Hannah Strunk Michelle Petrizzo JoAnn Lightman Chris Halliday Christine Stauffer Laura Diesinger April Groft	Dev. Of Plan 2008-2009	OF HOURS 6 hours	RATE \$21.00 \$21.00 \$21.00 \$21.00 \$21.00 \$21.00	\$126.00 \$126.00 \$126.00 \$126.00 \$126.00 \$126.00

	JoAnn Lightman		6 hours	\$21.00	\$126.00
	April Groft		6 hours	\$21.00	\$126.00
	Robin Scarpaci		6 hours	\$21.00	\$126.00
	Debra Cesare		6 hours	\$21.00	\$126.00
	Sue Olsen Jessica		6 hours	\$21.00	\$126.00
	Schrufer Leslie Boyer		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
TYSON SCHOENER	Rodney Windelspect	School Improvement	12 hours	\$21.00	\$252.00
Leslie Boyer Angel Zimmerman	p.20 (ee	12 hours	\$21.00	\$252.00	
		12 hours	\$21.00	\$252.00	
	JoAnn Lightman		12 hours	\$21.00	\$252.00
	April Groft		12 hours	\$21.00	\$252.00
	Robin Scarpaci		12 hours	\$21.00	\$252.00
	Debra Cesare		12 hours	\$21.00	\$252.00
	Steve Sieller		12 hours	\$21.00	\$252.00
	Matthew Martin		12 hours	\$21.00	\$252.00
	Chris Hilliday		12 hours	\$21.00	\$252.00
	Hannah Strunk		12 hours	\$21.00	\$252.00
	Christine Stauffer		12 hours	\$21.00	\$252.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
TYSON SCHOENER	Jeremy Lutz	Dev. Plan for 2008-	6 hours	\$21.00	\$126.00

		2009			
	Nick Talarico	2007	6 hours	\$21.00	\$126.00
	Jolene Degler		6 hours	\$21.00	\$126.00
	Grace Weber		6 hours	\$21.00	\$126.00
	Lauren Salvatore		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
TYSON SCHOENER	Bonnie	Team Building & Co.	6 hours	\$21.00	\$126.00
	Schmonsky Melanie Hansley	Teaching	6 hours	\$21.00	\$126.00
	Leslie Fisher		6 hours	\$21.00	\$126.00
	Tracey Tehrrien		6 hours	\$21.00	\$126.00
	Matthew Martin		6 hours	\$21.00	\$126.00
	Linda Jones		6 hours	\$21.00	\$126.00
	Lori Flamm		6 hours	\$21.00	\$126.00
	Jolene Degler		6 hours	\$21.00	\$126.00
	David Van Fossen		6 hours	\$21.00	\$126.00
	Beth Gerlins		6 hours	\$21.00	\$126.00
	Lori Rompella		6 hours	\$21.00	\$126.00
	Grace Weber		6 hours	\$21.00	\$126.00
	Lauren Salvatore		6 hours	\$21.00	\$126.00
	Debra Lockwood		6 hours	\$21.00	\$126.00
	Rodney Winkelspecht		6 hours	\$21.00	\$126.00
	Jeremy Lutz		6 hours	\$21.00	\$126.00

Kathleen	6 hours	\$21.00	\$126.00
Evans Christine	6 hours	\$21.00	\$126.00
Yoffee	6 Hours	Φ21.00	\$120.00
Nicolas	6 hours	\$21.00	\$126.00
Talarico	o nours	Ψ21.00	Ψ120.00
Lisa	6 hours	\$21.00	\$126.00
Stoddard			
Susan	6 hours	\$21.00	\$126.00
Olsen			
Leslie	6 hours	\$21.00	\$126.00
Boyer	c 1	#24 00	44.6 < 0.0
Hannah	6 hours	\$21.00	\$126.00
Strunk	6 hours	\$21.00	\$126.00
Stacy Shirey	6 Hours	Φ21.00	\$120.00
Christine	6 hours	\$21.00	\$126.00
Halliday	o nours	Ψ21.00	Ψ120.00
Jessica	6 hours	\$21.00	\$126.00
Tobias		·	
Steven Sieller	6 hours	\$21.00	\$126.00
Amanda	6 hours	\$21.00	\$126.00
Natale			
Victoria	6 hours	\$21.00	\$126.00
Hartranft	<i>c</i> 1	#24 00	Φ4. 2 (00
Sarah	6 hours	\$21.00	\$126.00
Eberwein Christine	6 hours	\$21.00	\$126.00
Stauffer	onours	Φ21.00	φ120.00
Rebecca	6 hours	\$21.00	\$126.00
Snook	0 110 6110	Ψ=1.00	Ψ1 = 0.00
Laura	6 hours	\$21.00	\$126.00
Deisinger			
Jeanne	6 hours	\$21.00	\$126.00
Casella			
Rebecca	6 hours	\$21.00	\$126.00
Stoner	<i>c</i> 1	ф 2 1 00	ф1 9 7 00
Carol Good	6 hours	\$21.00	\$126.00
Shanalynn	6 hours	\$21.00	\$126.00
Sweigart	onours	Ψ21.00	Ψ120.00
Corey	6 hours	\$21.00	\$126.00
Steele			,
Debra	6 hours	\$21.00	\$126.00
Cesare			
Christine	6 hours	\$21.00	\$126.00
Paige			

	Michelle Petrizzo		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
LAUER'S PARK	Rebecca Alexander	Day 1 Teacher Academy	6 hours	\$21.00	\$126.00
	Debra Aron	readenty	6 hours	\$21.00	\$126.00
	Loraine Batdorf		6 hours	\$21.00	\$126.00
	Heather Glendening		6 hours	\$21.00	\$126.00
	Eric Biassey		6 hours	\$21.00	\$126.00
	Linda Bunner		6 hours	\$21.00	\$126.00
	Amanda Cleary		6 hours	\$21.00	\$126.00
	Megan Comparato		6 hours	\$21.00	\$126.00
	Kevin Deemer		6 hours	\$21.00	\$126.00
	Ericka Evans		6 hours	\$21.00	\$126.00
	Kim Huey		6 hours	\$21.00	\$126.00
	Judith Gery		6 hours	\$21.00	\$126.00
	Sherry Gundersen		6 hours	\$21.00	\$126.00
	Tracy Gundersen		6 hours	\$21.00	\$126.00
	Sharon Hand		6 hours	\$21.00	\$126.00
	Roberta Hart		6 hours	\$21.00	\$126.00
	Patricia Hartman		6 hours	\$21.00	\$126.00
	Jen Hauptly		6 hours	\$21.00	\$126.00
	Mike Himmelreich		6 hours	\$21.00	\$126.00
	Elissa Kelleher		6 hours	\$21.00	\$126.00

Kimberly Kelley	6 hours	\$21.00	\$126.00
Patricia	6 hours	\$21.00	\$126.00
Kelly	0 110 612	Ψ=1.00	Ψ1 2 0.00
Barbara	6 hours	\$21.00	\$126.00
Kraft			
Rachael	6 hours	\$21.00	\$126.00
Lindenberg	<i>c</i> 1	ф о 1 00	ф 12 7 00
Susan Lockwood	6 hours	\$21.00	\$126.00
Megan	6 hours	\$21.00	\$126.00
Marabella	o nours	Ψ21.00	Ψ120.00
Denise	6 hours	\$21.00	\$126.00
McAndrew			
Heidi	6 hours	\$21.00	\$126.00
Meaese			
Marie	6 hours	\$21.00	\$126.00
Mengel	c 1	ф о д 00	ф 1.2 с 0.0
Michelle	6 hours	\$21.00	\$126.00
Metz Andrea	6 hours	\$21.00	\$126.00
Morsby	onours	Φ21.00	\$120.00
Bernadette	6 hours	\$21.00	\$126.00
Norton	5	4	7
Sarah	6 hours	\$21.00	\$126.00
Nejman			
Rita	6 hours	\$21.00	\$126.00
Paris	ć. 1	#24 00	449 (00
Maegen Palmieri	6 hours	\$21.00	\$126.00
Chris	6 hours	\$21.00	\$126.00
Paskowski	0 Hours	Ψ21.00	φ120.00
Lyvia	6 hours	\$21.00	\$126.00
Petris			
Joanne	6 hours	\$21.00	\$126.00
Pietrowski			
Stacey	6 hours	\$21.00	\$126.00
Puzauskas	<i>c</i> 1	Ф 2 1.00	ф 12 с 00
Meredith	6 hours	\$21.00	\$126.00
Richter Cindy	6 hours	\$21.00	\$126.00
Roberts	onours	Ψ21.00	Ψ120.00
Karen	6 hours	\$21.00	\$126.00
Rosales	- 2	,	,
Holly	6 hours	\$21.00	\$126.00
Smith			

Spohn Mark 6 hours \$21.00 \$126.5 Steinmeyer 5tover \$21.00 \$126.5 Stover 6 hours \$21.00 \$126.5 Swartz 6 hours \$21.00 \$126.5 Thompson \$21.00 \$126.5 Turczynski 6 hours \$21.00 \$126.5 Turczynski 6 hours \$21.00 \$126.5 Librick 6 hours \$21.00 \$126.5	00 00 00
John 6 hours \$21.00 \$126.05 Stover Patricia 6 hours \$21.00 \$126.05 Swartz Mary 6 hours \$21.00 \$126.05 Thompson Susan 6 hours \$21.00 \$126.05 Turczynski Colleen 6 hours \$21.00 \$126.05	00
Patricia 6 hours \$21.00 \$126.05 Swartz Mary 6 hours \$21.00 \$126.05 Thompson Susan 6 hours \$21.00 \$126.05 Turczynski Colleen 6 hours \$21.00 \$126.05 Statement \$21.00 \$126.0	00
Mary 6 hours \$21.00 \$126.00 Thompson Susan 6 hours \$21.00 \$126.00 Turczynski Colleen 6 hours \$21.00 \$126.00 \$1	
Susan 6 hours \$21.00 \$126.0 Turczynski Colleen 6 hours \$21.00 \$126.0	00
Colleen 6 hours \$21.00 \$126.	
	00
Ulrich Susan 6 hours \$21.00 \$126. Watrous	00
Kathleen 6 hours \$21.00 \$126. Wiest	00
Barbara 6 hours \$21.00 \$126. Yurick	00
Pamela 6 hours \$21.00 \$126. Zebrine	00
SCHOOL TEACHERS ACTIVITY NUMBER HOURLY TOTAL NAME OF HOURS RATE	λL
LAUER'S Lesson ABC 6 hours \$21.00 \$126.0 PARK Garden Math Lang	00
Megan Arts, S.S & Marabella Scinece	
Kim 6 hours \$21.00 \$126.0 Huey)0
Maegan 6 hours \$21.00 \$126.0 Palmieri)0
SCHOOL TEACHERS ACTIVITY NUMBER HOURLY TOTAL NAME OF HOURS RATE	λL
LAUER'S Plans & Idea 8 hours \$21.00 \$168.0 PARK Eric for Math)0
Biassey Arts Science Kevin 8 hours \$21.00 \$168.0 Deener	00
Tracy 8 hours \$21.00 \$168.0 Gunderson	00
Susan Spohn 8 hours \$21.00 \$168.0	00

SCHOOL LAUER'S PARK	TEACHERS NAME Michael Himmelrich	ACTIVITY Behavior Plan for assemblies	NUMBER OF HOURS 9 hours	HOURLY RATE \$21.00	TOTAL \$189.00
	Karen Rosales	discinising	5 hours	\$21.00	\$105.00
	Chris Paskowski		5 hours	\$21.00	\$105.00
	Erika Evans- Loos		5 hours	\$21.00	\$105.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
LAUER'S PARK	Michael Himmelreich	Design new Section for school wide binder	17 hours	\$21.00	\$357.00
	Megan Comparoto	birider	5 hours	\$21.00	\$105.00
	Tracy Gundersen		5 hours	\$21.00	\$105.00
	Cindy Roberts		5 hours	\$21.00	\$105.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
LAUER'S PARK	Linda Bunner	Adaptations to blackbook	51/3	\$21.00	\$111.93
	Kevin Deemer		51/3	\$21.00	\$111.93
	Denise McAndrew		51/3	\$21.00	\$111.93
	Lyvia Petris		51/3	\$21.00	\$111.93
	Judy Gery		51/3	\$21.00	\$111.93
	Sherry Gundersen		51/3	\$21.00	\$111.93
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
MILLMONT	Barbara Voelker	Data Analysis team	12 hours	\$21.00	\$252.00
	Elaine Becker		12 hours	\$21.00	\$252.00

	Shannon Painter		12 hours	\$21.00	\$252.00
	Louise Warren		12 hours	\$21.00	\$252.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
MILLMONT	Elaine Becker	Inclusion of Data Analysis	6 hours	\$21.00	\$126.00
	Amy Duff	7 mary 515	6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
NORTHWEST AREA ELEM	Г Karen Moore	Leading 1st Team	12 hours	\$21.00	\$252.00
	Terry Cooper		12 hours	\$21.00	\$252.00
	Marie Schnell		12 hours	\$21.00	\$252.00
	Enes		12 hours	\$21.00	\$252.00
	Limmerland Judy		12 hours	\$21.00	\$252.00
	Kline Greg		12 hours	\$21.00	\$252.00
	Kockdin Janet		12 hours	\$21.00	\$252.00
	Psota Michelle Texter		12 hours	\$21.00	\$252.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
RIVERSIDE	Beth	Inclusionary	12 hours	\$21.00	\$252.00
Jen Bar Rut Bla Kat Bre N. 1	Angstadt Jennifer	Practice	12 hours	\$21.00	\$252.00
	Ruth		12 hours	\$21.00	\$252.00
	Black Kathy		12 hours	\$21.00	\$252.00
	Brensinger N. Elizabeth		12 hours	\$21.00	\$252.00
	Buchanan Connie Cammarano		12 hours	\$21.00	\$252.00

Susan Cawley	12 hours	\$21.00	\$252.00
Billie Jo Chiarelli	12 hours	\$21.00	\$252.00
Meredith Coyle	12 hours	\$21.00	\$252.00
Tom Crane	12 hours	\$21.00	\$252.00
Lori Dubel	12 hours	\$21.00	\$252.00
Melissa Eggert	12 hours	\$21.00	\$252.00
Alia Emery	12 hours	\$21.00	\$252.00
Bonnie Fox	12 hours	\$21.00	\$252.00
Kathy Fromuth	12 hours	\$21.00	\$252.00
Mary Jo Geogeadis	12 hours	\$21.00	\$252.00
April Halligan	12 hours	\$21.00	\$252.00
Michelle Heffner	12 hours	\$21.00	\$252.00
Loryn Hoffa	12 hours	\$21.00	\$252.00
Donna Kase	12 hours	\$21.00	\$252.00
Rebecca Kauffman Patricia	12 hours 12 hours	\$21.00 \$21.00	\$252.00 \$252.00
A.Kelly Francine	12 hours	\$21.00	\$252.00
Lawrence Stefanie	12 hours	\$21.00	\$252.00
Lord Patti	12 hours	\$21.00	\$252.00
Loughery Paula	12 hours	\$21.00	\$252.00
Lovello Maryl	12 hours	\$21.00	\$252.00
Mier Ian	12 hours	\$21.00	\$252.00
Moore Michelle Moyer	12 hours	\$21.00	\$252.00

	Jessica Novak		12 hours	\$21.00	\$252.00
	Jessica		12 hours	\$21.00	\$252.00
	Nye Kelly		12 hours	\$21.00	\$252.00
	Rieck Tina		12 hours	\$21.00	\$252.00
	Schoenly Lori Sherman		12 hours	\$21.00	\$252.00
	Sharon		12 hours	\$21.00	\$252.00
	Stump Aaron		12 hours	\$21.00	\$252.00
	Thompson Jennifer Tornielli		12 hours	\$21.00	\$252.00
	Jennifer Ulrich		12 hours	\$21.00	\$252.00
	Jennifer Vicari		12 hours	\$21.00	\$252.00
	Julie Zimmerman		12 hours	\$21.00	\$252.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
RIVERSIDE	TVTAIVIE	Leadership Team Data	8 hours	\$21.00	\$168.00
	Melissa Eggert	and PSSA results			
	Sharon Stump	resurts	8 hours	\$21.00	\$168.00
	Jennifer Tornielli		8 hours	\$21.00	\$168.00
	Paula Lovello		8 hours	\$21.00	\$168.00
	Julie Zimmerman		8 hours	\$21.00	\$168.00
	Connie Cammarono		8 hours	\$21.00	\$168.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
RIVIERSIDE	· · · -	Protocol for academic	6 hours	\$21.00	\$126.00
	Jessica Nyo	behavior			
	Nye Billie Jo	support	6 hours	\$21.00	\$126.00

	Clain no 11:				
	Chiarelli Stefanie Lord		6 hours	\$21.00	\$126.00
	Sharon Stump		6 hours	\$21.00	\$126.00
	Michelle Heffner		6 hours	\$21.00	\$126.00
	Aeron Thompson		6 hours	\$21.00	\$126.00
	Ian Moore		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
RIVERSIDE	Jessica Nye	Support Committee Dev.	6 hours	\$21.00	\$126.00
	Kristin Kaucher	20	6 hours	\$21.00	\$126.00
N C L	Meredith Coyle		6 hours	\$21.00	\$126.00
	Lori Budel		6 hours	\$21.00	\$126.00
	Billie Jo Chiarelli		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
RIVERSIDE	Bonnie Fox	Staff Handbook	8 hours	\$21.00	\$168.00
	Kathy Fromuth		8 hours	\$21.00	\$168.00
	Patti Laughery		8 hours	\$21.00	\$168.00
	Fran Lawrence		8 hours	\$21.00	\$168.00
	Melissa Eggert		8 hours	\$21.00	\$168.00
	Beth Angstadt		8 hours	\$21.00	\$168.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
RIVERSIDE	Ruth Black	Master Schedule	6 hours	\$21.00	\$126.00
	Connie Cammorano	Circuit	6 hours	\$21.00	\$126.00

	Meredith		6 hours	\$21.00	\$126.00
	Coyle Loryn Hoffa		6 hours	\$21.00	\$126.00
	Kristin Kaucher		6 hours	\$21.00	\$126.00
	Rebecca Kauffman		6 hours	\$21.00	\$126.00
	Nicole Valentino		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
RIVERSIDE	Paula	Develop primary tool for	8 hours	\$21.00	\$168.00
	Lovello Kathy Fromuth	motivation	8 hours	\$21.00	\$168.00
	Marly Mier		8 hours	\$21.00	\$168.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
THOMAS FORD	Holly	Develop school wide disciplinary	12 hours	\$21.00	\$252.00
	Lamont Bod	policy	12 hours	\$21.00	\$252.00
	Aregood Betsy		12 hours	\$21.00	\$252.00
	Dries Jen		12 hours	\$21.00	\$252.00
John	Gring John Schroeder		12 hours	\$21.00	\$252.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
THOMAS FORD	1111111	Detail 2008- 2009 wide plan	12 hours	\$21.00	\$252.00
	Lou Lepore	Thomas Ford			
	Jan Buskirk	1014	12 hours	\$21.00	\$252.00
	Louise		12 hours	\$21.00	\$252.00

Warren

SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
THOMAS FORD	Gary Smith	In-Service Schedule	6 hours	\$21.00	\$126.00
TOTAL	Sue Bachart	Seriedale	6 hours	\$21.00	\$126.00
	Krista Cyran		6 hours	\$21.00	\$126.00
	June Rudy		6 hours	\$21.00	\$126.00
	John Schroeder		6 hours	\$21.00	\$126.00
	Janice Anthony		6 hours	\$21.00	\$126.00
	Nicole Defazio		6 hours	\$21.00	\$126.00
	Jen Gring		6 hours	\$21.00	\$126.00
	Meghan King		6 hours	\$21.00	\$126.00
	Brooke Stroebele		6 hours	\$21.00	\$126.00
	Val Howe		6 hours	\$21.00	\$126.00
	т		<i>c</i> 1	Ф 2 1.00	ф 12 с 00
	Joanne Miller		6 hours	\$21.00	\$126.00
	Amy Petersen		6 hours	\$21.00	\$126.00
	Lori Snyder		6 hours	\$21.00	\$126.00
	Betsy Dries		6 hours	\$21.00	\$126.00
	Connie Heintzelman		6 hours	\$21.00	\$126.00
	Denise		6 hours	\$21.00	\$126.00
Lessig Holly Lamont Sarah Noska Tara	Holly		6 hours	\$21.00	\$126.00
	Sarah		6 hours	\$21.00	\$126.00
	Tara		6 hours	\$21.00	\$126.00
	Hart Rebecca Guthier		6 hours	\$21.00	\$126.00

	DonnaLee Cole		6 hours	\$21.00	\$126.00
	Laura Fredricks		6 hours	\$21.00	\$126.00
	Claudia Sparangana		6 hours	\$21.00	\$126.00
	Bob Aregood		6 hours	\$21.00	\$126.00
	Linda Woleslagle		6 hours	\$21.00	\$126.00
	Danielle Siffler		6 hours	\$21.00	\$126.00
	Kathy Hendricks		6 hours	\$21.00	\$126.00
	Lyndesy Gable		6 hours	\$21.00	\$126.00
	Sarah Stutzman		6 hours	\$21.00	\$126.00
	Sue Kappenstein		6 hours	\$21.00	\$126.00
	Rosalie Coble		6 hours	\$21.00	\$126.00
	Jan Buzkirk		6 hours	\$21.00	\$126.00
	Louise Warren		6 hours	\$21.00	\$126.00
	Lou Lepore		6 hours	\$21.00	\$126.00
	Marlene Rathman		6 hours	\$21.00	\$126.00
	Dave Hinkel		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
COM TECH GATEWAY	Nicole Hanlon	Revised staff student handbook	6 hours	\$21.00	\$\$126.00
	Darren Anastasio	narazoak	6 hours	\$21.00	\$126.00
	Chris Johnston		6 hours	\$21.00	\$126.00
	Christine Schuler		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS	ACTIVITY	NUMBER OF HOURS	HOURLY	TOTAL
PERF ART	NAME Vicki	Reading	OF HOURS 10 hours	RATE \$21.00	\$210.00

GATE	Matteo Lisa Fabian	Edge	10 hours	\$21.00	\$210.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
NORTHEAST MS	Jennifer Dean	Reading enrichment program	15 hours	\$21.00	\$315.00
	Justine Sciumbata	program	15 hours	\$21.00	\$315.00
	Debbie Stairiker		15 hours	\$21.00	\$315.00
	Stephanie Adam		15 hours	\$21.00	\$315.00
	Lisa Comly		15 hours	\$21.00	\$315.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
NORTHEAST MS	Robert Deringer	6 th Grade Math	30 hours	\$21.00	\$630.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
NORTHEAST MS	NORTHEAST	Math enrichment program development	10 hours	\$21.00	\$210.00
	Robert Deininger		10 hours	\$21.00	\$210.00
Mik	Mike Paulson		10 hours	\$21.00	\$210.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
NORTHEAST MS I	Dawn Batess	Special Edu Caseload Resource		\$21.00	\$105.00
	Victoria Halferty	Resource	5 hours	\$21.00	\$105.00
	Tracy Briskey		5 hours	\$21.00	\$105.00
	Stewart Miller		5 hours	\$21.00	\$105.00

	Jessica DiBlase-		5 hours	\$21.00	\$105.00
	Myers Gabriella		5 hours	\$21.00	\$105.00
	Smith Shannon Feeney		5 hours	\$21.00	\$105.00
	Hoffmaster Megan		5 hours	\$21.00	\$105.00
	Sheeler Carol		5 hours	\$21.00	\$105.00
	Moore Cindy Albrecht		5 hours	\$21.00	\$105.00
	Amanda Yocom		5 hours	\$21.00	\$105.00
SCHOOL	TEACHERS	ACTIVITY	NUMBER OF HOURS	HOURLY	TOTAL
NORTHEAST MS	NAME	Co- Teaching Strategies, Learning Styles, Using graphic org in class	OF HOURS 6 hours	RATE \$21.00	\$126.00
	Adam Cindy		6 hours	\$21.00	\$126.00
	Albrecht John		6 hours	\$21.00	\$126.00
	Baker Kathryn		6 hours	\$21.00	\$126.00
	Ballein Jeanne		6 hours	\$21.00	\$126.00
Mattl Barbe Dawr Bates Jacqu Botch Trace Brisk Ingri	Barber Matthew		6 hours	\$21.00	\$126.00
	Dawn		6 hours	\$21.00	\$126.00
	Jacqueline		6 hours	\$21.00	\$126.00
	Tracey		6 hours	\$21.00	\$126.00
	Ingrid Christman		6 hours	\$21.00	\$126.00
	Lisa Comly		6 hours	\$21.00	\$126.00

Linda	6 hours	\$21.00	\$126.00
Criss Minerva	6 hours	\$21.00	\$126.00
Cruz	onours	Φ21.00	\$120.00
Jenna	6 hours	\$21.00	\$126.00
Dean	onours	Ψ21.00	φ120.00
Robert	6 hours	\$21.00	\$126.00
Deininger			
Jessica	6 hours	\$21.00	\$126.00
Diblasi Myer			
Kristine	6 hours	\$21.00	\$126.00
Donely	<i>.</i> 1	424 00	#12 (00
Amy	6 hours	\$21.00	\$126.00
Dorward Michele	6 hours	\$21.00	\$126.00
Ehrhart	onours	Φ21.00	\$120.00
Stacey	6 hours	\$21.00	\$126.00
Eiler	onours	Ψ21.00	φ120.00
Shannon	6 hours	\$21.00	\$126.00
Feeney-			
Hoffmaster			
Arlene	6 hours	\$21.00	\$126.00
Filtosh-Smith			
Karen	6 hours	\$21.00	\$126.00
Finneran	<i>(</i> 1,	Ф 2 1 ОО	ф 13 7 00
GWYN Focht	6 hours	\$21.00	\$126.00
Barry	6 hours	\$21.00	\$126.00
Folk	Officials	Ψ21.00	ψ120.00
Frank	6 hours	\$21.00	\$126.00
Glembocki			,
Daniel	6 hours	\$21.00	\$126.00
Grim			
Victoria	6 hours	\$21.00	\$126.00
Halferty			
Patricia	6 hours	\$21.00	\$126.00
Healey	<i>(</i> 1,	Ф 2 1 ОО	ф 13 7 00
Donald Helwig	6 hours	\$21.00	\$126.00
David	6 hours	\$21.00	\$126.00
Himes	o nours	Ψ21.00	Ψ120.00
Bernadette	6 hours	\$21.00	\$126.00
Himmelberger		•	
Ian	6 hours	\$21.00	\$126.00
Hirshtritt			
Katherine	6 hours	\$21.00	\$126.00
Igusky			

	26.00
Kaiser	26.00
	26.00
Ketterer (have a #21.00 #1	26.00
	26.00
Kohl Daniel 6 hours \$21.00 \$1	26.00
Daniel 6 hours \$21.00 \$1 Lavia	26.00
	26.00
Ray 6 hours \$21.00 \$1 Lease	20.00
	26.00
Manbech	20.00
	26.00
Manbeck	20.00
	26.00
MCilhenny	20.00
	26.00
Miller	20.00
	26.00
Miller	20.00
	26.00
Moore \$\psi \text{1.00}\$	20.00
	26.00
Noll	20.00
	26.00
Ortiz-Robles	_0.00
	26.00
Paulson	
	26.00
Paxson	
Lin 6 hours \$21.00 \$1	26.00
Periera	
Sally 6 hours \$21.00 \$1	26.00
Picherello	
David 6 hours \$21.00 \$1	26.00
Renninger	
Michael 6 hours \$21.00 \$1	26.00
Riley	
Michael 6 hours \$21.00 \$1	26.00
Ruth	
David 6 hours \$21.00 \$1	26.00
D()	
Rutt	
	26.00
	26.00
Jessica 6 hours \$21.00 \$1 Scheibner	26.00 26.00

	Nicole Seibert		6 hours	\$21.00	\$126.00
	Megan Sheeler		6 hours	\$21.00	\$126.00
	Rachelle Sheidy		6 hours	\$21.00	\$126.00
	Carol Simonetti		6 hours	\$21.00	\$126.00
	Grant Skiles		6 hours	\$21.00	\$126.00
	Gabriella Smith		6 hours	\$21.00	\$126.00
	Nancy Smith		6 hours	\$21.00	\$126.00
	Denise Solecki		6 hours	\$21.00	\$126.00
	Debbie Stairiker		6 hours	\$21.00	\$126.00
	Starry Starry		6 hours	\$21.00	\$126.00
	William Sterner		6 hours	\$21.00	\$126.00
	Joshua Taylor		6 hours	\$21.00	\$126.00
	Susan Tonneslan		6 hours	\$21.00	\$126.00
	Andrew Wardsworth		6 hours	\$21.00	\$126.00
	Nelson Weber		6 hours	\$21.00	\$126.00
	John Wenrich		6 hours	\$21.00	\$126.00
	Amanda Yocom		6 hours	\$21.00	\$126.00
	Craig Miller		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY S RATE	TOTAL
NORTHEAST MS	Stephanie Adam	Excel Power Point,Inclusion & Accom, 4Sight member	6 hours	\$21.00	\$126.00
	Cindy Albrecht		6 hours	\$21.00	\$126.00
	John		6 hours	\$21.00	\$126.00

Baker			
Kathryn	6 hours	\$21.00	\$126.00
Ballein			*
Jeanne	6 hours	\$21.00	\$126.00
Barber			
Matthew	6 hours	\$21.00	\$126.00
Barber		,	,
Dawn	6 hours	\$21.00	\$126.00
Bates			
Jacqueline	6 hours	\$21.00	\$126.00
Botch			*
Tracey	6 hours	\$21.00	\$126.00
Briskey	(h aa	¢ 2 1 00	ф1 2 7 00
Ingrid Christman	6 hours	\$21.00	\$126.00
Lisa	6 hours	\$21.00	\$126.00
Comly	o nours	Ψ21.00	φ120.00
Linda	6 hours	\$21.00	\$126.00
Criss		·	
Minerva	6 hours	\$21.00	\$126.00
Cruz			
Jenna	6 hours	\$21.00	\$126.00
Dean	. 1	4.24 .00	449 (00
Robert	6 hours	\$21.00	\$126.00
Deininger Jessica	6 hours	\$21.00	\$126.00
Diblasi Myer	onours	Φ21.00	\$120.00
KristineDonely	6 hours	\$21.00	\$126.00
Amy	0 110 012	Ψ=1.00	Ψ120.00
Dorward			
Michele	6 hours	\$21.00	\$126.00
Ehrhart			
Stacey	6 hours	\$21.00	\$126.00
Eiler	z 1	Φ 2 1.00	Φ1 2 6.00
Shannon	6 hours	\$21.00	\$126.00
Feeney- Hoffmaster			
Arlene	6 hours	\$21.00	\$126.00
Filtosh-Smith	0 110 012	Ψ=1.00	Ψ120.00
Karen	6 hours	\$21.00	\$126.00
Finneran			
GWYN	6 hours	\$21.00	\$126.00
Focht			.
Barry	6 hours	\$21.00	\$126.00
Folk	<i>(</i> 1,	ф 2 1 ОС	ሰ1ጋ ረ 00
Frank	6 hours	\$21.00	\$126.00

Glembocki			
Daniel	6 hours	\$21.00	\$126.00
Grim			
Victoria	6 hours	\$21.00	\$126.00
Halferty			
Patricia	6 hours	\$21.00	\$126.00
Healey			
Donald	6 hours	\$21.00	\$126.00
Helwig			
David	6 hours	\$21.00	\$126.00
Himes			
Bernadette	6 hours	\$21.00	\$126.00
Himmelberger			
Ian	6 hours	\$21.00	\$126.00
Hirshtritt			
Katherine	6 hours	\$21.00	\$126.00
Igusky	. •	** **********************************	
Madeline	6 hours	\$21.00	\$126.00
Kaiser	<i>c</i> 1	Φ 2 1.00	Φ1 2 (00
Caitlyn	6 hours	\$21.00	\$126.00
Ketterer	<i>C</i> 1	¢21 00	ф1 2 7 00
Kristin	6 hours	\$21.00	\$126.00
Kohl Daniel	6 hours	¢ 2 1 00	¢1 2 6 00
Lavia	o nours	\$21.00	\$126.00
Ray	6 hours	\$21.00	\$126.00
Lease	o nours	Ψ21.00	Ψ120.00
Ryan	6 hours	\$21.00	\$126.00
Manbec	onours	Ψ21.00	Ψ120.00
Donna	6 hours	\$21.00	\$126.00
Marburger	0 110 6110	Ψ=1.00	Ψ120100
Thomas	6 hours	\$21.00	\$126.00
MCilhenny			,
Craig Miller			
Stewart	6 hours	\$21.00	\$126.00
Miller			
Tara	6 hours	\$21.00	\$126.00
Miller			
Carol	6 hours	\$21.00	\$126.00
Moore			
Daniel	6 hours	\$21.00	\$126.00
Noll			
Jocabed	6 hours	\$21.00	\$126.00
Ortiz-Robles			
Michael	6 hours	\$21.00	\$126.00
Paulson			
Alison	6 hours	\$21.00	\$126.00

Paxson			
Lin	6 hours	\$21.00	\$126.00
Periera			·
Sally	6 hours	\$21.00	\$126.00
Picherello			
David	6 hours	\$21.00	\$126.00
Renninger			
Michael	6 hours	\$21.00	\$126.00
Riley		D	
Michael	6 hours	\$21.00	\$126.00
Ruth	<i>c</i> 1	Φ 2 1.00	ф1 2 7 00
David	6 hours	\$21.00	\$126.00
Rutt	6 hours	¢2 1 00	¢126.00
Jessica Scheibner	6 nours	\$21.00	\$126.00
Scheibhei			
Justine	6 hours	\$21.00	\$126.00
Sciumbata	o nours	Ψ21.00	Ψ120.00
Nicole	6 hours	\$21.00	\$126.00
Seibert			
Megan	6 hours	\$21.00	\$126.00
Sheeler			
Rachelle	6 hours	\$21.00	\$126.00
Sheidy			
Carol	6 hours	\$21.00	\$126.00
Simonetti			
Grant	6 hours	\$21.00	\$126.00
Skiles	<i>c</i> 1	Φ 2 1.00	Φ1 2 (00
Gabriella	6 hours	\$21.00	\$126.00
Smith Nancy	6 hours	\$21.00	\$126.00
Smith	o nours	Φ21.00	\$120.00
Denise	6 hours	\$21.00	\$126.00
Solecki	o nours	Ψ21.00	Ψ120.00
Debbie			
Stairiker	6 hours		
Stacy	6 hours	\$21.00	\$126.00
Starry			
William	6 hours	\$21.00	\$126.00
Sterner			
Joshua	6 hours	\$21.00	\$126.00
Taylor		De. 1 00	
Susan	6 hours	\$21.00	\$126.00
Tonneslan	C 1	#21 00	ሰ1ጋ ረ 00
Andrew Wardsworth	6 hours	\$21.00	\$126.00
Wardsworth Nelson	6 hours	\$21.00	\$126.00
11015011	o nours	Φ∠1.00	φ120.00

	Weber John Wenrich Amanda		6 hours	\$21.00 \$21.00	\$126.00 \$126.00
	Yocom		onours	Ψ21.00	Ψ120.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
NORTHWEST MS	Karen Adams	School Improvement Plan	6 hours	\$21.00	\$126.00
	Vicki Aquilla	Tan	6 hours	\$21.00	\$126.00
	Tina Argot		6 hours	\$21.00	\$126.00
	Robinette Armstrong		6 hours	\$21.00	\$126.00
	Carl Bard		6 hours	\$21.00	\$126.00
Ivy Bentz	Becker		6 hours	\$21.00	\$126.00
			6 hours	\$21.00 \$21.00	\$126.00 \$126.00
	Berger Kelly		6 hours	\$21.00	\$126.00
	Bucca Colleen		6 hours	\$21.00	\$126.00
	Candelaria Debbie		6 hours	\$21.00	\$126.00
	Clabaugh Connor		6 hours	\$21.00	\$126.00
	Cogan Reanne Cuevas		6 hours	\$21.00	\$126.00
	Shannon Darligton		6 hours	\$21.00	\$126.00
	Peggy Delly		6 hours	\$21.00	\$126.00
	Robert Dowling		6 hours	\$21.00	\$126.00
	Cliff Durham		6 hours	\$21.00	\$126.00
	Kay Endres		6 hours	\$21.00	\$126.00
	Luis Estrada		6 hours	\$21.00	\$126.00

Megan Faust	6 hours	\$21.00	\$126.00
Francesca	6 hours	\$21.00	\$126.00
Flore	o no dis	φ 21. 00	φ120.00
Michele	6 hours	\$21.00	\$126.00
Fitch			
Julie	6 hours	\$21.00	\$126.00
Foley			
Bradley	6 hours	\$21.00	\$126.00
Greth			
Steve	6 hours	\$21.00	\$126.00
Griesmer	. 1	424 00	#19 (00
Terry	6 hours	\$21.00	\$126.00
Griffith	<i>c</i> 1	ф 2 1 00	ф 12 с 00
Leo	6 hours	\$21.00	\$126.00
Hanley Matt	6 hours	¢ 2 1 00	\$126.00
Heaney	6 Hours	\$21.00	\$120.00
Cindy	6 hours	\$21.00	\$126.00
Jacob	0 Hours	Ψ21.00	Ψ120.00
Erin	6 hours	\$21.00	\$126.00
Jacobs	onours	Ψ21.00	φ120.00
Michelle	6 hours	\$21.00	\$126.00
Kantner		, , , , , , , , , , , , , , , , , , , ,	,
Laura	6 hours	\$21.00	\$126.00
Kauffman			
Holly	6 hours	\$21.00	\$126.00
Keown			
Nancy	6 hours	\$21.00	\$126.00
Keyes			
Lori	6 hours	\$21.00	\$126.00
Lacy	. 1	424 00	#19 (00
Aimee	6 hours	\$21.00	\$126.00
Lausch	(h a	¢21 00	¢1 2 7 00
Erik Leeds	6 hours	\$21.00	\$126.00
Karen	6 hours	\$21.00	\$126.00
Mac Grady	0 Hours	Ψ21.00	Ψ120.00
Gary	6 hours	\$21.00	\$126.00
Maga	onours	Ψ21.00	φ120.00
Robert	6 hours	\$21.00	\$126.00
Miller		4	7
Doug	6 hours	\$21.00	\$126.00
Moyer			
Mary	6 hours	\$21.00	\$126.00
Naugle			

Allison	6 hours	\$21.00	\$126.00
Nayson	c 1	494 00	449 6.00
Traci	6 hours	\$21.00	\$126.00
Webb	<i>c</i> 1	Φ 2 1.00	ф 12 с 00
Joan	6 hours	\$21.00	\$126.00
Bohn	<i>c</i> 1	Ф О 1 ОО	ф 12 6 00
Erika	6 hours	\$21.00	\$126.00
Miller	6 hours	ф о д 00	ф 13 7 00
Barbara	6 nours	\$21.00	\$126.00
Oleski Mike	(h a	¢ 2 1.00	¢1 2 7.00
	6 hours	\$21.00	\$126.00
Perez Michelle	6 hours	¢21 00	¢1 2 6.00
	6 hours	\$21.00	\$126.00
Pickup	6 hours	\$21.00	\$126.00
Des Platanos	o nours	\$21.00	\$120.00
	6 hours	\$21.00	\$126.00
Greg Reber	onours	Φ21.00	\$120.00
Lisa	6 hours	\$21.00	\$126.00
Reber	onours	Φ21.00	\$120.00
Chris	6 hours	\$21.00	\$126.00
Riedel	onours	Φ21.00	\$120.00
Tom	6 hours	\$21.00	\$126.00
Ronco	onours	Ψ21.00	Ψ120.00
Kelly	6 hours	\$21.00	\$126.00
Rupp	o nours	Ψ21.00	Ψ120.00
Mike	6 hours	\$21.00	\$126.00
Santarelli	o nours	Ψ21.00	Ψ120.00
Dyke	6 hours	\$21.00	\$126.00
Sassaman	0 110 6115	Ψ=1.00	Ψ1 = 0.00
Anna	6 hours	\$21.00	\$126.00
Savage			,
Morgana	6 hours	\$21.00	\$126.00
Schlick			
Marty	6 hours	\$21.00	\$126.00
Schlosser			
John	6 hours	\$21.00	\$126.00
Schmehl			
Lael	6 hours	\$21.00	\$126.00
Schwartz			
Margi	6 hours	\$21.00	\$126.00
Sell			
Ryan	6 hours	\$21.00	\$126.00
Shomo			
Carol	6 hours	\$21.00	\$126.00
Squibb			

	Jessica Steffy		6 hours	\$21.00	\$126.00
	Gerard Tyson		6 hours	\$21.00	\$216.00
	Heidi Vaitl		6 hours	\$21.00	\$126.00
	Diane Wagner		6 hours	\$21.00	\$126.00
	Kim Wagner		6 hours	\$21.00	\$126.00
	Pat Wealand		6 hours	\$21.00	\$126.00
	Joshua Yoffee		6 hours	\$21.00	\$126.00
	Joe Youngblood		6 hours	\$21.00	\$126.00
	Leanne Zettlemoyer		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
NORTHWEST MS		Additional School	10 hours	\$21.00	\$210.00
	Karen	Improvement			
	MacGrady Robert	plan	10 hours	\$21.00	\$210.00
	Miller Deborah		10 hours	\$21.00	\$210.00
	Claubaugh Morgana Schlick		10 hours	\$21.00	\$210.00
	Kim Wagner		10 hours	\$21.00	\$210.00
	Karen Adams		10 hours	\$21.00	\$210.00
	Vicki Aquila Aquila		10 hours	\$21.00	\$210.00
	Shannon Darlington		10 hours	\$21.00	\$210.00
]	Lori Lacy		10 hours	\$21.00	\$210.00
	Martin Schlosser		10 hours	\$21.00	\$210.00
	Carol Squibb		10 hours	\$21.00	\$210.00
	Heidi Vaitl		10 hours	\$21.00	\$210.00

	Joe		10 hours	\$21.00	\$210.00
	Youngblood David		10 hours	\$21.00	\$210.00
	Gilmore Dave Marella		10 hours	\$21.00	\$210.00
NORTHWEST MS	TEACHERS NAME Karen MacGrady Robert	ACTIVITY Additional School Improvement plan	NUMBER OF HOURS 10 hours	HOURLY RATE \$21.00	TOTAL \$210.00 \$210.00
	Dowling Lisa		10 hours	\$21.00	\$210.00
	Reber Gary		10 hours	\$21.00	\$210.00
	Maga Kim		10 hours	\$21.00	\$210.00
	Wagner Karen		10 hours	\$21.00	\$210.00
	Adams Vicki		10 hours	\$21.00	\$210.00
	Aquila Shannon		10 hours	\$21.00	\$210.00
	Darlington Lori		10 hours	\$21.00	\$210.00
	Lacy Martin		10 hours	\$21.00	\$210.00
	Schlosser Carol		10 hours	\$21.00	\$210.00
	Squibb Heidi Vaitl		10 hours	\$21.00	\$210.00
	Joe Youngblood		10 hours	\$21.00	\$210.00
	David Gilmore		10 hours	\$21.00	\$210.00
	Dave Marella		10 hours	\$21.00	\$210.00
	Kelly		10 hours	\$21.00	\$210.00
	Rupp Debbie		10 hours	\$21.00	\$210.00
	Clabaugh Morgana Schlick		10 hours	\$21.00	\$210.00

	Terrell Griffith		10 hours	\$21.00	\$210.00
	Luis Estrada		10 hours	\$21.00	\$210.00
	Ramon King		10 hours	\$21.00	\$210.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
NORTHWEST MS	Г Lisa Reber	In <i>-</i> Service Day	12 hours	\$21.00	\$252.00
	Karen MacGrady	·	12 hours	\$21.00	\$252.00
	Robert Dowling		12 hours	\$21.00	\$252.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
SOUTHERN MS	Beverly S	School Impro plan	12 hours	\$21.00	\$252.00
Kim Epler Kathy Blaum Rick MacGra Linda			12 hours	\$21.00	\$252.00
	Kathy		12 hours	\$21.00	\$252.00
	Rick MacGrady Linda Fredericks Maria		12 hours	\$21.00	\$252.00
			12 hours	\$21.00	\$252.00
			12 hours	\$21.00	\$252.00
	Encarnacion Steve Rossignoli		12 hours	\$21.00	\$252.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
SOUTHERN MS	Tara Pequignot	Student serv. Team	10 hours	\$21.00	\$210.00
WIS	Maria Encarnacion	serv. ream	10 hours	\$21.00	\$210.00
	Steve		10 hours	\$21.00	\$210.00
	Rossignoli Ann		10 hours	\$21.00	\$210.00
	Martido Terry Lee		10 hours	\$21.00	\$210.00
	Tamika Coleman		10 hours	\$21.00	\$210.00

SCHOOL SOUTHERN MS	TEACHERS NAME Maria Encarnacion Steve Rossignoli	ACTIVITY Collect prepare workshop	NUMBER OF HOURS 5 hours	HOURLY RATE \$21.00	TOTAL \$105.00 \$105.00
SCHOOL SOUTHERN MS	TEACHERS NAME Beverly Moyer	ACTIVITY Curriculum integration	NUMBER OF HOURS 10 hours	HOURLY RATE \$21.00	TOTAL \$210.00
1,10	Kim Epler		10 hours	\$21.00	\$210.00
	Kathy		10 hours	\$21.00	\$210.00
Blaum Richard	Richard		10 hours	\$21.00	\$210.00
	MacGrady Linda		10 hours	\$21.00	\$210.00
Maria Encarnac Steve			10 hours	\$21.00	\$210.00
			10 hours	\$21.00	\$210.00
SCHOOL SOUTHERN MS	TEACHERS NAME TBA	ACTIVITY Apple curricular	NUMBER OF HOURS 10 hours	HOURLY RATE \$21.00	TOTAL \$210.00
	TBA	elements	10 hours	\$21.00	\$210.00
	TBA		10 hours	\$21.00	\$210.00
	TBA		10 hours	\$21.00	\$210.00
	TBA		10 hours	\$21.00	\$210.00
	TBA		10 hours	\$21.00	\$210.00
SCHOOL SOUTHERN MS	TEACHERS NAME TBA	ACTIVITY Math curriculum 6,7,8	NUMBER OF HOURS 120 hours	HOURLY RATE \$21.00	TOTAL \$2,520

SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
SOUTHERN MS	TBA	Create math writing prompts	120 hours	\$21.00	\$2,520
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
SOUTHER MS	Beverly Moyer	6 th grade Math	30 hours	\$21.00	\$630.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
SOUTHERN MS	TBA (6 teachers)	Revise math PSSA pocket 6,7,8	12 hours	\$21.00	\$1,512.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
SOUTHERN MS	TBA	Identify the lessons for PSSA	80 hours	\$21.00	\$1,680
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
SOUTHERN MS		SAP manuel	5 hours	\$21.00	\$105.00
	Rob Mazzo		5 hours	\$21.00	\$105.00
	Melanie Miller		5 hours	\$21.00	\$105.00
	Julia Tramontana		5 hours	\$21.00	\$105.00
	Jill Faber		5 hours	\$21.00	\$105.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
SOUTHWEST MS	SOUTHWEST Identify MS lesson in Maria new PSS. Wengyn Review Amy	lesson in new PSSA	15 hours	\$21.00	\$315.00
		Review	15 hours	\$21.00	\$315.00
	Mountain Nina Santee		15 hours	\$21.00	\$315.00
	Lindsey		15 hours	\$21.00	\$315.00

Posch

SCHOOL	TEACHERS NAME	ACTIVITY		UMBER F HOURS	HOURLY RATE	TOTAL
SOUTHWEST	Tony	Science & SS. Teachers analyze PSSA 4-		hours	\$21.00	\$210.00
	Marvilla Bill Fehr	Sight	10	hours	\$21.00	\$210.00
	Mark Preletz		10	hours	\$21.00	\$210.00
	Tom Ward		10	hours	\$21.00	\$210.00
	Jennifer Vicari		10	hours	\$21.00	\$210.00
	Belinda Miller		10	hours	\$21.00	\$210.00
SCHOOL	TEACHERS NAME	ACTIVITY		NUMBER OF HOURS	HOURLY RATE	TOTAL
SOUTHWEST MS	Lisa Meredith	Communication Art Teachers	ons	10 hours	\$21.00	\$210.00
	Maria Wengyn			10 hours	\$21.00	\$210.00
	Amy Mountain			10 hours	\$21.00	\$210.00
	Nina Santee			10 hours	\$21.00	\$210.00
	Lindsey Posch			10 hours	\$21.00	\$210.00
	Ellie Neuhs			10 hours	\$21.00	\$210.00
SCHOOL	TEACHERS NAME	ACTIVITY		UMBER F HOURS	HOURLY RATE	TOTAL
SOUTHWEST MS	Mary Ellen Breinegan	Committee of Math Teacher	10	hours	\$21.00	\$210.00
	Shelley Stump	reactier	10	hours	\$21.00	\$210.00
	Jamie Naftzinger		10	hours	\$21.00	\$210.00

	Lauren Mohan		10 hours	\$21.00	\$210.00
	Barb Speicher		10 hours	\$21.00	\$210.00
	Belinda Miller		10 hours	\$21.00	\$210.00
SCHOOL SOUTHWEST MS	TEACHERS NAME	ACTIVITY Guidance Counselors devl.	NUMBER OF HOURS 10 hours	HOURLY RATE \$21.00	TOTAL \$210.00
	Szablowski Tom Hoover	Schedule	10 hours	\$21.00	\$210.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
SOUTHWEST MS	Bill Fehr	Design & Devl. Website	5 hours	\$21.00	\$105.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
SOUTHWEST MS	TBA (5 Teachers)	Identified lessons new PSSA for grades 6,7,8	30 hours (all together)	\$21.00	\$630.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
SOUTHWEST MS	TBA	Revise math packets for PSSA review	60 hours(all together)	\$21.00	\$1,260.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
SOUTHWEST MS	TBA	List of open ended problems	120 hours (all together)	\$21.00	\$2,520.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
SOUTHWEST MS	TBA	Training for the math department on Excel	50 hours	\$21.00	1,050

SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
SOUTHWEST MS	TBA	Training for the Math dept on Excel	120 hours	\$21.00	\$2,520.00
SCHOOL SOUTHWEST MS	TEACHERS NAME TBA (5) Teachers	ACTIVITY Use of graphing calculations in math	NUMBER OF HOURS 30 hours (all together)	HOURLY RATE \$21.00	TOTAL \$630.00
SCHOOL SOUTHWEST MS	TEACHERS NAME Amy Mountain	ACTIVITY Committee of Teachers Team Devl.	NUMBER OF HOUR 20 hours	HOURLY RATE \$21.00	TOTAL \$420.00
	Mike Preletz	Team Devi.		\$21.00	\$420.00
	Barb Speicher			\$21.00	\$420.00
	Cindy La Sota			\$21.00	\$420.00
	Mike Minnich			\$21.00	\$420.00
	Mary Ellen Brenegan			\$21.00	\$420.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURL RATE	TOTAL
SOUTHWEST MS	Mike Minnich	Develop plan and organize activities	10 hours	\$21.00	\$210.00
	Amy Mountain		10 hours	\$21.00	\$210.00
	Nina Santee		10 hours	\$21.00	\$210.00
	Michael Preletz		10 hours	\$21.00	\$210.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
SOUTHWEST MS	Mike Preletz	Design and organized	15 hours	\$21.00	\$315.00

plans

SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
SOUTHWEST MS		6 th GRADE MATH	30 hours	\$21.00	\$630.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
ELA	Esperanza Wickeret	Summer Testing hours	91 hours	\$21.00	\$1,911.00
	Rita Ferreira	nours	91 hours	\$21.00	\$1,911.00
	Pamela Wheeler		91 hours	\$21.00	\$1,911.00
	Maria Diaz Aponte		91 hours	\$21.00	\$1,911.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
ELA	Amy Develop an Berkly ESL planned course	10 hours	\$21.00	\$210.00	
	John Perrotto		10 hours	\$21.00	\$210.00
	Elizabeth Sanmond		10 hours	\$21.00	\$210.00
	Ethan Polczynski		10 hours	\$21.00	\$210.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
ELA	Pam Wheeler	Develop a newcomer	10 hours	\$21.00	\$210.00
	Nelson Weber		10 hours	\$21.00	\$210.00
	Linda Fredericks		10 hours	\$21.00	\$210.00
	Janna Isbell		10 hours	\$21.00	\$210.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
ELA	Andrea Mollura	Gather SIOP trainers	8 hours	\$21.00	\$168.00

Kisten Stankiewcz	8 hours	\$21.00	\$168.00
	8 hours	\$21.00	\$168.00
Tracy Bollinger	o nours	\$21.00	\$100.00
Jean	8 hours	\$21.00	\$168.00
Rogers	onours	φ21.00	Φ100.00
Debra	8 hours	\$21.00	\$168.00
Schwenk	o nours	Ψ21.00	Ψ100.00
Rachel	8 hours	\$21.00	\$168.00
Szoke	o nours	Ψ21.00	Ψ100.00
Billie Jo	8 hours	\$21.00	\$168.00
Chiarelli	Ollouis	Ψ21.00	Ψ100.00
Lisa	8 hours	\$21.00	\$168.00
Sinnamon	o no dis	Ψ21.00	Ψ100.00
Janet	8 hours	\$21.00	\$168.00
Psota	o no dis	Ψ21.00	Ψ100.00
Michelle	8 hours	\$21.00	\$168.00
Texter	o no dis	Ψ21.00	Ψ100.00
Megan	8 hours	\$21.00	\$168.00
Camparato	0 110 0110	Ψ=1.00	Ψ100.00
Louise	8 hours	\$21.00	\$168.00
Warren		7	7-0000
Hannah	8 hours	\$21.00	\$168.00
Strunk		,	,
Michael	8 hours	\$21.00	\$168.00
Strunk			
Michael	8 hours	\$21.00	\$168.00
Adam			
Tania	8 hours	\$21.00	\$168.00
Heckman			
Amy	8 hours	\$21.00	\$168.00
Levengood			
Lisa	8 hours	\$21.00	\$168.00
Folk			
Tara	8 hours	\$21.00	\$168.00
Levanti			
Kim	8 hours	\$21.00	\$168.00
Epler			
Karen	8 hours	\$21.00	\$168.00
Adams			
Michelle	8 hours	\$21.00	\$168.00
Pickup			
Shannon	8 hours	\$21.00	\$168.00
Darlington			
Pam	8 hours	\$21.00	\$168.00
Wheeler			

Hei Pie		8 h	ours	\$21.00	\$168.00
Mic	chelle	8 h	ours	\$21.00	\$168.00
Ma		8 h	ours	\$21.00	\$168.00
Esp	nan eranza ekert	8 h	ours	\$21.00	\$168.00
Rita		8 h	ours	\$21.00	\$168.00
Ma	ria Diaz onte	8 h	ours	\$21.00	\$168.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOUR		TOTAL
LITERACY COORDINATOR	Marie Schmel	Checklist of elig. Content 3,4,5 gr	6 hours	\$21.00	\$126.00
	Terry Cooper	teachers	6 hours	\$21.00	\$126.00
SCHOOL LITERACY COORDINATOR	TEACHERS NAME Stephanie Adam	ACTIVITY District Guidelines	NUMBER OF HOUR 4 hours	HOURLY S RATE \$21.00	TOTAL \$84.00
	Lisa	Document	4 hours	\$21.00	\$84.00
	Reber Kathleen		4 hours	\$21.00	\$84.00
	Blaum Tara		4 hours	\$21.00	\$84.00
	Levanti Lisa		4 hours	\$21.00	\$84.00
	Meredith Jennifer		4 hours	\$21.00	\$84.00
	Dean Kim Epler		4 hours	\$21.00	\$84.00
	Cindy LaSota		4 hours	\$21.00	\$84.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOUR	HOURLY S RATE	TOTAL
LITERACY COORDINATOR	Rita Ferreira	Teacher on pre-K	6 hours	\$21.00	\$126.00

		transition			
	Lynn Willems		6 hours	\$21.00	\$126.00
	Darlene Baloga		6 hours	\$21.00	\$126.00
	Jennifer		6 hours	\$21.00	\$126.00
	Dianna Idalmy Naylor Cedeno		6 hours	\$21.00	\$126.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
LITERACY COORDINATOR	TBA (12) COACHES	Induction training	3 hours each	\$21.00	\$756.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
LITERACY COORDINATOR	TBA (12)	Training new teachers	6 hours each		\$1,512.00
	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
LITERACY COORDINAT OR	Adrienne Derrer	Guide specialist the Harcourt Resource Binder	6 hours	\$21.00	\$126.00
	Jennifer Born		6 hours	\$21.00	\$126.00
	Jeanne Blum		6 hours	\$21.00	\$126.00
	Debra Schwenk		6 hours	\$21.00	\$126.00
	Patricia		6 hours	\$21.00	\$126.00
	Layos Debra		6 hours	\$21.00	\$126.00
	Wierzbicki Julie		6 hours	\$21.00	\$126.00
	Zimmerman Jennifer Tornielli		6 hours	\$21.00	\$126.00
	Jessica Lucas		6 hours	\$21.00	\$126.00

Judy	6 hours	\$21.00	\$126.00
Rhine			
Terry	6 hours	\$21.00	\$126.00
Cooper			
Sherry	6 hours	\$21.00	\$126.00
Gunderson			
Lyvia	6 hours	\$21.00	\$126.00
Petris			
Susan	6 hours	\$21.00	\$126.00
Kappenstein			
Sarah	6 hours	\$21.00	\$126.00
Miller			
Debra	6 hours	\$21.00	\$126.00
Cesare			
Angel	6 hours	\$21.00	\$126.00
Zimmerman			
Kimberly	6 hours	\$21.00	\$126.00
Rankin			
Amanda	6 hours	\$21.00	\$126.00
Marsden			
Shannon	6 hours	\$21.00	\$126.00
Wechsler			
Andrea	6 hours	\$21.00	\$126.00
White			
Robin	6 hours	\$21.00	\$126.00
Goodman			
Lisa	6 hours	\$21.00	\$126.00
Folk			
Cynthia	6 hours	\$21.00	\$126.00
Smith-Kern			
Felicia	6 hours	\$21.00	\$126.00
Owens			
Cynthia	6 hours	\$21.00	\$126.00
Clapperton			
Barbara	6 hours	\$21.00	\$126.00
Ripple			
Erin	6 hours	\$21.00	\$126.00
Brown			
Yvonne	6 hours	\$21.00	\$126.00
Dorsey			
Kathy	6 hours	\$21.00	\$126.00
Wiest			
Karen	6 hours	\$21.00	\$126.00
Moore			
Paula	6 hours	\$21.00	\$126.00
Lovello			

Rosalie Coble	6 hours	\$21.00	\$126.00
Rodney	6 hours	\$21.00	\$126.00
Winkelspecht	o nouis	Ψ21.00	φ120.00
Debra	6 hours	\$21.00	\$126.00
Printz	o nouis	Ψ21.00	φ120.00
Margie	6 hours	\$21.00	\$126.00
Shearer	0 110 0110	Ψ=1.00	Ψ120.00
Melissa	6 hours	\$21.00	\$126.00
Houptley	0 -10 0-10	+	7
Cynthia	6 hours	\$21.00	\$126.00
Hiryak		,	,
April	6 hours	\$21.00	\$126.00
Matz		·	
Chris	6 hours	\$21.00	\$126.00
Houck		·	•
Christine	6 hours	\$21.00	\$126.00
Reichardt		·	•
Kathy	6 hours	\$21.00	\$126.00
Sallade			
Sherry	6 hours	\$21.00	\$126.00
Brinker			
Jennifer	6 hours	\$21.00	\$126.00
Swambach			
Virginia	6 hours	\$21.00	\$126.00
Houseman			
Melissa	6 hours	\$21.00	\$126.00
Moyer			
Sara	6 hours	\$21.00	\$126.00
Mengel			
Patrice	6 hours	\$21.00	\$126.00
McCall			
Kim	6 hours	\$21.00	\$126.00
Deibert			
Linda	6 hours	\$21.00	\$126.00
Bunner			
Heather	6 hours	\$21.00	\$126.00
Glendening			
Judith	6 hours	\$21.00	\$126.00
Gery			
Louise	3 hours	\$21.00	\$63.00
Warren			
Enes	6 hours	\$21.00	\$126.00
Zimmerman			
Marie	6 hours	\$21.00	\$126.00
Schmehl			

	Sharon Stump		6	hours	\$21.00	\$	5126.00
	(Moyer) Melissa		6	hours	\$21.00	\$	6126.00
	Eggert Jan		6	hours	\$21.00	\$	6126.00
	Buskirk Louise		6	hours	\$21.00	4	6126.00
	Warren JoAnn		6	hours	\$21.00	9	6126.00
	Lightman Robin		6	hours	\$21.00	9	6126.00
	Scarpaci Judy Geary		6	hours	\$21.00	9	6126.00
	Karen		6	hours	\$21.00	4	6126.00
	Moore Shannon Wechsler		6	hours	\$21.00	\$	5126.00
SCHOOL	TEACHERS NAME	ACTIVITY		NUMBER OF HOURS	HOURLY S RATE		TOTAL
LITERACY COORDINATOR		Committee to revise		4 hours	\$21.00		\$84.00
	Cynthia Nepper Deborah Gingrich	Harcourt Binder		4 hours	\$21.00		\$84.00
	Nadine Poper			4 hours	\$21.00		\$84.00
	Mike Adams			4 hours	\$21.00		\$84.00
	Elaine			4 hours	\$21.00		\$84.00
	Hahn Jared			4 hours	\$21.00		\$84.00
	Parella Mark			4 hours	\$21.00		\$84.00
	Lesh Deb			4 hours	\$21.00		\$84.00
	Caeser Hannah			4 hours	\$21.00		\$84.00
	Strunk Robin			4 hours	\$21.00		\$84.00
	Scarpaci Steven Steven Sieller			4 hours	\$21.00		\$84.00

Joanne	4 hours	\$21.00	\$84.00
Lightman			
Amanda	4 hours	\$21.00	\$84.00
Natak			
Sue	4 hours	\$21.00	\$84.00
Kappenstein			
Sarah	4 hours	\$21.00	\$84.00
Stutzman			
Louise	4 hours	\$21.00	\$84.00
Warren			
Jan	4 hours	\$21.00	\$84.00
Buskirk			
June	4 hours	\$21.00	\$84.00
Rudy			
Krista	4 hours	\$21.00	\$84.00
Cyran			
Michelle	4 hours	\$21.00	\$84.00
Texter			
Judy	4 hours	\$21.00	\$84.00
Rhine			
Janet	8 hours	\$21.00	\$168.00
Psota			
Angela	4 hours	\$21.00	\$84.00
Conrad			
Heather	4 hours	\$21.00	\$84.00
Foster			
Mandy	4 hours	\$21.00	\$84.00
Wampole			
Linda	4 hours	\$21.00	\$84.00
Bunner			
Amanda	4 hours	\$21.00	\$84.00
Cleary			
Meredith	4 hours	\$21.00	\$84.00
Richter			
Jean	4 hours	\$21.00	\$84.00
Hauptley			
Stacey	4 hours	\$21.00	\$84.00
Puzauskas			
Kathy	12 hours	\$21.00	\$252.00
Sallade			
Robin	8 hours	\$21.00	\$168.00
Goodman			
Sherry	8 hours	\$21.00	\$168.00
Brinker			
Virginia	12 hours	\$21.00	\$252.00
Houseman			

	Lisa		12 hours	\$21.00	\$252.00
	Folk Robecc Kasisky		8 hours	\$21.00	\$168.00
LITERACY CORRDINATOR	Lynn		4 hours	\$21.00	\$84.00
CORRDINATOR	Buchuer Eric Baumenner		4 hours	\$21.00	\$84.00
	Alfreda Dierolf		4 hours	\$21.00	\$84.00
	Dieron Deb Wierzbicki		4 hours	\$21.00	\$84.00
	Barbara Hall		4 hours	\$21.00	\$84.00
	Melissa		4 hours	\$21.00	\$84.00
	Houptley Elizabeth		4 hours	\$21.00	\$84.00
	Whitehouse Margie Shearer		4 hours	\$21.00	\$84.00
SCHOOL	TEACHER S NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
READING HIGH	Nancy Graham	Teachers Academy	24 hours for (4) days	\$21.00	\$504.00
SCHOOL	Kristin		24 hours for	\$21.00	\$504.00
	Schlegel Janet		(4) days 24 hours for	\$21.00	\$504.00
	Opalinski Jeanne Gochnauer		(4) days24 hours for(4) days	\$21.00	\$504.00
	Deb George	Deb		\$21.00	\$504.00
	Denise Noll		(4) days24 hours for(4) days	\$21.00	\$504.00
	Diane Wolfe		24 hours for (4) days	\$21.00	\$504.00
	Scott Kuhns		24 hours for (4) days	\$21.00	\$504.00
	Mary Steinborn		24 hours for (4) days	\$21.00	\$504.00
	Laurie Kercher		24 hours for (4) days	\$21.00	\$504.00
	Ethan Polczynski		24 hours for (4) days	\$21.00	\$504.00

Craig	24 hours for	\$21.00	\$504.00
Hoffer	(4) days	Φ 21 .00	ΦΕ04.00
Tim Doddina	24 hours for	\$21.00	\$504.00
Redding	(4) days 24 hours for	¢21 00	\$504.00
Kathryn Moser		\$21.00	\$304.00
Geraldine	(4) days 24 hours for	\$21.00	\$504.00
Korenda	(4) days	Ψ21.00	ψ504.00
Matt	24 hours for	\$21.00	\$504.00
Stumhoffer	(4) days	Ψ21.00	φ501.00
Chris	24 hours for	\$21.00	\$504.00
Dailey	(4) days	Ψ=1.00	4001.00
Amber	24 hours for	\$21.00	\$504.00
ElGamal	(4) days	•	
Carol	24 hours for	\$21.00	\$504.00
Semanchick	(4) days		
MaryJane	24 hours for	\$21.00	\$504.00
Tyler	(4) days		
Shannon	24 hours for	\$21.00	\$504.00
Spohn	(4) days		
Daniel	24 hours for	\$21.00	\$504.00
Hauman	(4) days		
Bob	24 hours for	\$21.00	\$504.00
Tulanowsk	(4) days		
i —		***	
Tina	24 hours for	\$21.00	\$504.00
Koch	(4) days	h-1 00	*= 04.00
Stephanie	24 hours for	\$21.00	\$504.00
Shreeves	(4) days	Φ 21 .00	ΦΕ04.00
Sarah	24 hours for	\$21.00	\$504.00
Hinzman	(4) days	ተጋ 1 00	¢E04.00
Linda Zerbe	24 hours for	\$21.00	\$504.00
_	(4) days 24 hours for	\$21.00	\$504.00
Jenn Brumbach	(4) days	\$21.00	\$304.00
Steven	24 hours for	\$21.00	\$504.00
Harris	(4) days	Ψ21.00	ψ504.00
Richard	24 hours for	\$21.00	\$504.00
Reichart	(4) days	Ψ21.00	φ501.00
Suzanne	24 hours for	\$21.00	\$504.00
Endy	(4) days	Ψ=1.00	4001.00
Paige	24 hours for	\$21.00	\$504.00
Sechler	(4) days		
Susan	24 hours for	\$21.00	\$504.00
Palenchar	(4) days		
Stacey	24 hours for	\$21.00	\$504.00
Weaver	(4) days		

Wondy	24 hours for	\$21.00	\$504.00
Wendy Tester	(4) days	\$21.00	\$30 4 .00
	24 hours for	\$21.00	\$504.00
Amy Berkley	(4) days	\$21.00	\$30 4 .00
Rachel	24 hours for	\$21.00	¢504.00
		\$21.00	\$504.00
Kelley	(4) days 24 hours for	¢ 2 1 00	¢E04.00
John Perrotto		\$21.00	\$504.00
	(4) days	Ф Э 1 ОО	¢E04.00
Erin	24 hours for	\$21.00	\$504.00
Gauker	(4) days	Ф О 1 ОО	Φ Γ Ω4 ΩΩ
Jamine	24 hours for	\$21.00	\$504.00
Sanchex	(4) days	Φ 2 4.00	Φ Ε Ω4.00
Josh	24 hours for	\$21.00	\$504.00
Smith	(4) days		
Wanda	24 hours for	\$21.00	\$504.00
Alvarez	(4) days		
Andrea	24 hours for	\$21.00	\$504.00
Lillo	(4) days		
Carolina	24 hours for	\$21.00	\$504.00
Perez	(4) days		
Kritel	24 hours for	\$21.00	\$504.00
Reigel	(4) days		
Sarah	24 hours for	\$21.00	\$504.00
Rudge	(4) days		
Karen	24 hours for	\$21.00	\$504.00
Quinnn	(4) days		
Dean	24 hours for	\$21.00	\$504.00
Garges	(4) days		
Jena	24 hours for	\$21.00	\$504.00
Carrozza	(4) days		
Nikki	24 hours for	\$21.00	\$504.00
Kern	(4) days		
Kathy	24 hours for	\$21.00	\$504.00
Manzella	(4) days		
Kate	24 hours for	\$21.00	\$504.00
Clewell	(4) days		
Charlotte	24 hours for	\$21.00	\$504.00
Zabinski	(4) days		
Sheena	24 hours for	\$21.00	\$504.00
Dantzler	(4) days		•
Jaimie	24 hours for	\$21.00	\$504.00
Travis	(4) days	,	,
Mansy	24 hours for	\$21.00	\$504.00
Pfiester	(4) days	. ——	,
Nancy	24 hours for	\$21.00	\$504.00
Stewart	(4) days	4-1.00	4001.00
Cicwait	(1) days		

	Marty		24 hours for	\$21.00	\$504.00
	Schmittberg	ger	(4) days		
	John		24 hours for	\$21.00	\$504.00
	Benson		(4) days	ф о д 00	Φ Ε Ω4.00
	Lamaryce		24 hours for	\$21.00	\$504.00
	Woods Melissa		(4) days 24 hours for	\$21.00	\$504.00
	Wolfe		(4) days	Φ21.00	φ30 4 .00
	Danielle		24 hours for	\$21.00	\$504.00
	Gulotta		(4) days	Ψ21.00	φυσ1.σσ
	Jason		24 hours for	\$21.00	\$504.00
	Zeigler		(4) days		
	Christina		24 hours for	\$21.00	\$504.00
	Dillon		(4) days		
	Robin		24 hours for	\$21.00	\$504.00
	Barnett		(4) days		
	Eileen		24 hours for	\$21.00	\$504.00
	Ritz		(4) days	#24 00	# = 1 0 0
	Lauren		24 hours for	\$21.00	\$504.00
	Beiswenger Chris		(4) days 24 hours for	\$21.00	¢E04.00
	Angstadt		(4) days	\$21.00	\$504.00
	Christine		24 hours for	\$21.00	\$504.00
	Pellegrini		(4) days	Ψ21.00	Ψ504.00
	Don		24 hours for	\$21.00	\$504.00
	Byrne		(4) days	,	,
	Cindy		24 hours for	\$21.00	\$504.00
	Zack		(4) days		
	Nancy		24 hours for	\$21.00	\$504.00
	Plasted		(4) days		
	Katie		24 hours for	\$21.00	\$504.00
	Williams		(4) days	ф о д 00	Φ Ε Ω4.00
	Wayne		24 hours for	\$21.00	\$504.00
	Shearer Anne		(4) days 24 hours for	\$21.00	\$504.00
	Pletcher		(4) days	Ψ21.00	ψ 304. 00
	Tieterier		(4) days		
SCHOOL	TEACHERS	ACTIVITIY	NUMBER	HOURLY	TOTAL
	NAME		OF HOURS	RATE	
Reading	David	Accelerated	20 hours	\$21.00	\$420.00
High School	Immendorf	Astronomy			
SCHOOL	TEACHERS	ACTIVITY	NUMBER	HOURLY	TOTAL
JCITOOL	NAME	21011111	OF HOURS	RATE	101/11
Reading	Elaine	Accelerated	20 hours	\$21.00	\$420.00
High School	Cooks	Field			
-		Biology			

SCHOOL Reading High School	TEACHERS NAME Christine Pellegrini	ACTIVITY Accelerated Botany	NUMBER OF HOURS 20 hours	HOURLY RATE \$21.00	TOTAL \$420.00
SCHOOL Reading	TEACHERS NAME Randy	ACTIVITY Accelerated	NUMBER OF HOURS 20 hours	HOURLY RATE \$21.00	TOTAL \$420.00
High School	Neider	Forensics	20 110015	ψ21.00	ψ420.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
Reading High School	TBA (4)	Double-up Curriculum classes	20 hours (each)	\$21.00	\$2,100.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
Reading High School	Bradley K. Richards	Summer Committee Activities	55 hours	\$21.00	\$1,155
	Timothy Raub		10 hours	\$21.00	\$210.00
SCHOOL	TEACHERS NAME	ACTIVITY	NUMBER OF HOURS	HOURLY RATE	TOTAL
SCHOOL MILLMONT MAGNET	TEACHERS NAME TBA (5)	ACTIVITY CURRICULUM WRITING	OF HOURS		TOTAL \$3,150.00
MILLMONT	NAME	CURRICULU	OF HOURS M 30 HOURS	S RATE	
MILLMONT MAGNET	NAME TBA (5) TEACHERS NAME Mr.	CURRICULUI WRITING	OF HOURS M 30 HOURS (each) NUMBER	S RATE \$21.00 HOURLY	\$3,150.00
MILLMONT MAGNET SCHOOL Reading	NAME TBA (5) TEACHERS NAME Mr.	CURRICULUI WRITING ACTIVITY	OF HOURS M 30 HOURS (each) NUMBER OF HOURS	FATE \$21.00 HOURLY RATE	\$3,150.00 TOTAL
MILLMONT MAGNET SCHOOL Reading High School	NAME TBA (5) TEACHERS NAME Mr. Gochenaur TEACHERS	CURRICULUI WRITING ACTIVITY Advertising	OF HOURS M 30 HOURS (each) NUMBER OF HOURS 30 hours NUMBER OF HOURS 30 hours	HOURLY RATE \$21.00 HOURLY RATE \$21.00	\$3,150.00 TOTAL \$630.00
MILLMONT MAGNET SCHOOL Reading High School SCHOOL Reading	NAME TBA (5) TEACHERS NAME Mr. Gochenaur TEACHERS NAME Mr.	CURRICULUTE WRITING ACTIVITY Advertising ACTIVITY Sports and Entertainment	OF HOURS M 30 HOURS (each) NUMBER OF HOURS 30 hours NUMBER OF HOURS 30 hours	HOURLY RATE \$21.00 HOURLY RATE \$21.00	\$3,150.00 TOTAL \$630.00 TOTAL

SCHOOL	TEACHERS	ACTIVITY	NUMBER	HOURLY	TOTAL
	NAME		OF HOURS	RATE	
Reading	Mrs.	Accelerated	15 hours	\$21.00	\$315.00
High School	Steinborn	Computer			
		Awareness			
	Mr.		15 hours	\$21.00	\$315.00
	Simchena				

Districtwide-Professional Visitations (Approvals / Ramifications)

Res. 3 National Institute of Urban Schools Leaders in Cambridge M.A. from July 20-25, 2008, 100% funded by the General fund. The cost will not exceed \$3,416.00.

Wynton Butler

A-Res. 3

Res. 4 Department of Education ESL Governor's Institute at Immaculate PA from July 20-25, 2008, funded by the General fund. The cost will not exceed \$500.00.

Jodie Madueno	Beth Angstadt
Ruth Black	Billie Jo Chiarelli
Barbara L. Hoffman	Tina Schoenly
Megan Comparato	Patricia D. Kelly

A-Res. 4

Res. 5 Governor's Institute Improving Academic Success at Bloomsburg University from July 27 through August 1 2008, funded by the General fund. The cost will not exceed \$450.00.

Katherine Buchanan Pat Layos Alyssa Ledbetter Dorothea Miller

Jen Wocklish

A-Res. 5

Res. 6 National Staff Development Council Conference "Creating a World of Wonder Through School-Based Professional Learning" at Orlando Fl. from July 13-16, 2008, funded by Annenberg Implementation Grant.

Michelle Merkel Heidi Pierce A-Res.6

Res. 7 Governor's Academy for Urban Education at Muhlenberg College from June 21-26, 2008, at no cost to the district.

Melissa Fisher Lisa Sinnamon

Res. 8 Migrant Education Graduation Ceremony at Harrisburg PA, on May 27, 2008, funded by Title III.

Esperanza Wickert

A-Res. 8

Res. 9 29th Annual National Educational Computing Conference at San Antonio Texas, from June 29-July 2nd, 2008, 100% funded by Title II.

Christopher P. Yeshulas

A-Res. 9

- **Res. 10** Ratifies the submission of an application to the Pennsylvania Department of Education for the Accountability to Commonwealth Taxpayers (ACT) funding for 2008-09.
- **Res. 11** Ratifies the submission of an application to the Pennsylvania Department for continuation of the Pregnant & Parenting Teen Program grant for 2008-09.
- **Res. 12** Administration accepts the Pennsylvania High School Coaching Initiative Transition year 4 funding from Annenberg Foundation. The Board is committed to pay \$275,000.00 for 5 of the 10 instructional coaches supported by Annenberg Foundation.

A-Res.12

- **Res. 13** Authorizes the Administration to submit applications to the State Parent Advisory Council, authorized under the Pennsylvania Department of Education, for Parent Involvement Mini-Contract for all Title 1 Schools.
- Res. 14 Approves the addendum to the contract with Berks County Intermediate Unit for Educational Assistance Program for an additional 90 hours for the contract period of September 4, 2007 to June 30, 2008 at a cost not to exceed \$2,250.00. Funding will be provided through the Educational Assistance Program (EAP) Grant. (Contract originally approves as Resolution 2 of Curriculum and Technology on September 26, 2007.)

A-Res.14

Res. 15 2008 Governor's Institute for Data Driven Instructional Practice in Reading and Mathematics for School Improvement from July 13-18, 2008 in Hershey, P.A., funded through RHS improvement funds. The cost will not exceed \$7,100.00.

Debbie Cammarano Leslie Helf
Robert McDonald Christine Melder
William Quigg William Tobin
Scott Winkleman Thom Pershing

A-Res.15

Res. 16 Authorizes Administration to approve contracted services for the Administrative retreat on July 15-17 2008, at Alvernia College. Money not to exceed \$19,900 100%

funded by Title I reserved staff development and Title I school improvement funds.

Res. 17 Authorizes the Administration to approve an agreement between Clarion University and Reading School District to provide a dual enrollment class "Spanish 275" \$450.00 per three credits attempted for each student enrollment per semester. This will be of no cost to the district.

A- Res. 17

Res. 18 Authorizes the Administration to approve an Academic Talent Search program for higher level math courses for up to 4 teachers and 100 students (with a "B" or better in current math course) to complete a higher level of math by graduation. Funded by General fund at a cost not to exceed \$13,025.00:

David Immendorf Massi Pfiester

TBA TBA

VOTE ON CURRICULUM AND TECHNOLOGY RESOLUTIONS 1-18: 9 YEAS; 0 NAYS

YEAS: Ms. Wertz Mr. Breton

Mr. CinficiMr. CoooperMr. SantoroMr. StammMr. StorchMs. Stroman

Mrs. McCree, President

CURRICULUM AND TECHNOLOGY RESOLUTIONS 1-18 WERE APPROVED.

Finance and Legal

The Finance and Legal Committee presented a total of 28 resolutions for consideration. Resolutions 1-19, 21, 24, and 25 were voted on together. The motion was made by Mr. Cinfici, and this was seconded by Mr. Breton.

Res. 1 Approves/ratifies the bill list for the General Fund for the month of April 2008 in the amount of \$3,299,438.75, as attached.

A-Res. 1

Res. 2 Approves/ratifies the bill list for Trust and Agency for the month of April 2008 in the amount of \$96,635.41, as attached.

A-Res. 2

Res. 3 Approves the bill list for the 2003 G.O. Bond Fund for the month of May 2008 in the amount of \$139,862.76, as attached.

Res. 4	Approves the 2003 Bond Fund Financial Report as of April 29, 2008.	A-Res. 4
Res. 5	Approves the bill list for the 2005 G.O. Bond Fund for the month of May 200 amount \$4,306,624.78, as attached.	08 in the
		A-Res. 5
Res. 6	Approves the 2005 Bond Fund Financial Report as of April 31, 2008, as attac	hed. A-Res. 6
Res. 7	Approves Treasurer's Report for the period ending April 29, 2008, as attached	ed. A-Res. 7
Res. 8	Accepts Investment Report as of April 31, 2008, as attached.	A-Res. 8
Res. 9	Approves budget transfers in the amount of \$96,040.11, as attached.	A-Res. 9
Approval	of Athletic Items:	
Res. 10	Approves the Athletic Budget Report for the period ending April 31, 2008, a attached.	ıs
		A-Res. 10
Res. 11	Approves the Trust and Agency Bank Reconciliation for the month of Aprattached.	
		A-Res. 11
Res. 12	Approves the Officials Fund Bank Reconciliation for the month of April 200 attached.	
		A-Res. 12
Approval	of Food Service Items:	
Res. 13	Approves/ratifies the April 2008 check register in the amount of \$1,608, attached.	029.47, as
		A-Res. 13
Res. 14	Approves the Food Services Financial Report for March 2008, as attached.	A-Res. 14
Res. 15	Approves Food Services Incomes/Expenditures Report for the month endir 29, 2008, as attached.	ng March
		A-Res. 15

Approval of School Real Estate Tax Refunds:

Res. 16 Approves the refund of school real estate taxes as a result of overpayments to the Reading School District in the amount of \$3,025.60, as attached.

A-Res. 16

Res. 17 Request board approval for the following Medical and Nursing Supplies bids for the 2007-08 school year as follows:

Vendor	Amount
Henry Schein Inc.	\$1,917.34
Medco	\$ 227.15
Moore Medical	\$7,884.04
School Health	\$3,314.96
Sportsmans	\$ 775.10
Supreme Medical	\$ 548.08
William V. MacGill and Company	\$3,769.21
Total Amount for All Vendors	\$18,435.88

Res. 18 Approves Stuart Eberly to attend the Feesers Food Show at Hershey Hotel and Conference Center, Hershey, PA from June 5-June 7, 2008, at a cost not to exceed \$500.00, funded through Food Service Account.

Res. 19 Approves the increase in cost of meals for the 2008-09 school year to the following:

Category	Breakfast	Lunch	Snack	Supper
Elementary	\$1.20	\$1.70		
Secondary	\$1.20	\$1.85		
Adults	\$1.70	\$2.90		
Headstart	\$1.05	\$2.10	\$.90	
Cabrini Academy		\$2.10		
St. Peter's		\$2.10		
RACC ELC		\$2.10	\$.90	
Women in Crisis		\$2.00		
Opportunity House	\$1.05	\$2.10	\$.90	\$1.95

- Res. 20 This resolution was voted on separately.
- **Res. 21** Approves the resolution on Termination of Lease Agreement with St. Helene and Constantine Church. A-Res. 21
- Res. 22 This resolution was voted on separately.
- Res. 23 This resolution was voted on separately.
- **Res. 24** Approves the sale of property located at 1708 Cotton Street, in the amount of \$500.00.

Res. 25 Approves the Agreement for the Utility Cost Study with Utilitech, Inc., pending review and approval by the solicitor. A-Res. 25

VOTE ON FINANCE AND LEGAL RESOLUTIONS AS LISTED: 9 YEAS; 0 NAYS

YEAS: Mr. Breton Mr. Cinfici

Mr. Cooper Mr. Santoro
Mr. Stamm Mr. Storch
Ms. Stroman Ms. Wertz

Mrs. McCree, President

THE FINANCE AND LEGAL RESOLUTIONS LISTED ABOVE WERE APPROVED.

The Finance and Legal Committee presented resolution 20 for consideration. The motion was made by Mr. Santoro, and this was seconded by Mr. Breton.

Res. 20 Adopts the Preliminary General Fund Budget for the Fiscal Year 2008-09, in the

amount of \$183,251,579.00, per Section 687 of the Pennsylvania School Code.

Handout

VOTE ON FINANCE AND LEGAL RESOLUTION 20: 8 YEAS; 1 NAY

YEAS: Mr. Cinfici Mr. Cooper

Mr. Santoro Mr. Storch Ms. Stroman Ms. Wertz

Mr. Breton Mrs. McCree, President

NAYS: Mr. Stamm

FINANCE AND LEGAL RESOLUTION 20 WAS APPROVED.

The Finance and Legal Committee presented resolution 22 for consideration. The motion was made by Mr. Santoro, and this was seconded by Mr. Breton.

Res. 22 Approves the Lease Agreement for the District Alternative Education Program.

A-Res. 22

VOTE ON FINANCE AND LEGAL RESOLUTION 22: 5 YEAS; 4 NAYS

YEAS: Mr. Cooper Mr. Santoro

Mr. Storch Mr. Breton

Mr. Stamm

NAYS: Mr. Cinfici Ms. Stroman

Ms. Wertz Mrs. McCree, President

FINANCE AND LEGAL RESOLUTION 22 WAS APPROVED.

The Finance and Legal Committee presented resolution 23 for consideration. The motion was made by Mr. Cooper, and this was seconded by Mr. Santoro.

Res. 23 Approves the Lease Agreement for the Millmont Playground.

A-Res. 23

VOTE ON FINANCE AND LEGAL RESOLUTION 23: 8 YEAS; 1 NAY

YEAS: Mr. Cooper Mr. Santoro

Mr. Storch Ms. Stroman Ms. Wertz Mr. Breton

Mr. Cinfici Mrs. McCree, President

NAYS: Mr. Stamm

FINANCE AND LEGAL RESOLUTION 23 WAS APPROVED.

The Finance and Legal Committee presented resolution 26 for consideration. The motion was made by Mr. Santoro, and this was seconded by Ms. Stroman.

Res. 26

BE IT RESOLVED, That the Board of School Directors of the Reading School District approves the attached Cooperation Agreement and Voluntary Payment Agreement amongst the County of Berks, the City of Reading, the City of Reading Housing Authority and the Reading School District to provide municipal tax assistance for a partial low cost housing project to be constructed on the estate located at 100 North 2nd Street, 110 North 2nd Street and 101 Pear Street, Reading, PA.

VOTE ON FINANCE AND LEGAL RESOLUTION 26: 7 YEAS; 2 NAYS

YEAS: Mr. Santoro Mr. Storch

Ms. Stroman Ms. Wertz Mr. Breton Mr. Cooper

Mrs. McCree, President

NAYS: Mr. Cinfici Mr. Stamm

FINANCE AND LEGAL RESOLUTION 26 WAS APPROVED.

The Finance and Legal Committee presented resolution 27 for consideration. The motion was made by Mr. Cinfici, and this was seconded by Mr. Cooper.

Res. 27 Approved the 2008-09 Food Services Department Budget in the Amount of \$10,344,285.00, as attached. **A-Res. 27**

VOTE ON FINANCE AND LEGAL RESOLUTION 27: 9 YEAS; 0 NAYS

YEAS: Mr. Stamm Mr. Storch

Ms. StromanMs. WertzMr. BretonMr. CinficiMr. CooperMr. Santoro

Mrs. McCree, President

FINANCE AND LEGAL RESOLUTION 27 WAS APPROVED.

The Finance and Legal Committee presented resolution 28 for consideration. The motion was made by Mr. Cooper, and this was seconded by Ms. Wertz.

Res. 28 Authorizes the Administration to reject the HVAC bid received for the Choral Room at Reading High School and further authorizes the Administration to rebid the HVAC contract.

VOTE ON FINANCE AND LEGAL RESOLUTION 28: 9 YEAS; 0 NAYS

YEAS: Mr. Storch Ms. Stroman

Ms. WertzMr. BretonMr. CinficiMr. CooperMr. SantoroMr. Stamm

Mrs. McCree, President

FINANCE AND LEGAL RESOLUTION 28 WAS APPROVED.

Facilities and Security

The Facilities and Security Committee presented a total of four resolutions for consideration. Each was voted on separately. Mr. Cooper made a motion to consider resolution 1, and this was seconded by Ms. Wertz.

Res. 1 Awards the bid for asbestos abatement at Reading High School classrooms to PDG, Inc., the lowest responsible bidder, in the amount of \$187,527.00. Monies to come from the 2003 G.O. Bond Fund.

VOTE ON FACILITIES AND SECURITY RESOLUTION 1: 6 YEAS; 3 NAYS

YEAS: Mr. Cooper Mr. Santoro
Ms. Stroman Ms. Wertz

Mr. Breton Mrs. McCree, President

NAYS: Mr. Cinfici Mr. Stamm

Mr. Storch

FACILITIES AND SECURITY RESOLUTION 1 WAS APPROVED.

Mr. Cooper made a motion to consider resolution 2, and this was seconded by Ms. Wertz.

Res. 2 Authorizes the expenditure of \$149,000.00 to improve the Reading High School tennis courts. Monies to come from the General Fund/Fund Balance. Agreement to be reviewed and approved by district solicitor.

VOTE ON FACILITIES AND SECURITY RESOLUTION 2: 9 YEAS; 0 NAYS

YEAS: Ms. Wertz Mr. Breton

Mr. CinficiMr. CooperMr. SantoroMr. StammMr. StorchMs. Stroman

Mrs. McCree, President

FACILITIES AND SECURITY RESOLUTION 2 WAS APPROVED.

Mr. Cooper made a motion to consider resolution 3, and this was seconded by Ms. Wertz.

Res. 3 Approves Change Directive GC1-01, Approval Letter C200-52 to Perrotto Builders, LTD, in an amount not to exceed \$137,000.00, for foundation and soil

bunders, E1D, it all amount not to exceed \$157,000.00, for roundation at

remediation at the new foundations for "C" wing. Citadel Project

A-Res. 3

VOTE ON FACILITIES AND SECURITY RESOLUTION 3: 8 YEAS; 1 NAY

YEAS: Mr. Breton Mr. Cinfici

Mr. Cooper Mr. Santoro
Mr. Stamm Ms. Stroman

Ms. Wertz Mrs. McCree, President

NAYS: Mr. Storch

FACILITIES AND SECURITY RESOLUTION 3 WAS APPROVED.

Mr. Cooper made a motion to consider resolution 4, and this was seconded by Mr. Storch.

Res. 4 Approved Michael Kostival Architects as the Architect of Record for Phase II of the district's building plan, pending satisfactory review of scope of work and Agreement by the district solicitor.

VOTE ON FACILITIES AND SECURITY RESOLUTION 4: 7 YEAS; 2 NAYS

YEAS: Mr. Cooper Mr. Santoro

Mr. Storch
Ms. Wertz
Ms. Stroman
Mr. Breton

Mrs. McCree, President

NAYS: Mr. Cinfici Mr. Stamm

FACILITIES AND SECURITY RESOLUTION 4 WAS APPROVED.

Student Services

The Student Services Committee presented a total of four resolutions for consideration. All resolutions were voted on together. The motion was made by Mr. Santoro, and this was seconded by Mr. Cinfici.

- Authorizes the Administration to staff and operate a summer program for middle school students that meet the criteria for the Individual Disability Education Act (IDEA). These students are in need of compensatory education for math and language arts with imbedded Science and Social Studies as needed. The summer program will operate six weeks (two three week sessions) starting June 9, 2008 and ending on July 18, 2008 (excluding July 4, 2008). The program will culminate in a ceremony/award activity to recognize both the academic and social achievement of the students. It will be housed at one of the Gateway Schools in the Reading School District (TBA). The maximum number of staff would be twenty teachers, (TBA), who will be paid at the hourly contractual rate of \$21.00 an hour. The hours per day will be from 8:00 a.m. to 1:00 p.m. or five hours per day, (at a cost not to exceed \$73,080.00, general fund).
- Res. 2 Authorizes the Administration to approve The Reading School District School Counselors to write, plan, and develop lessons and curriculum for the Model School Counseling Program under the criteria of the American School Counselor Association (ASCA). Each school counselor will receive 8 hours of curriculum and activity planning time, (at a cost not to exceed \$5,376.00, Act 48 fund).

Elementary:

Sarah Churgai Christine Sirak
Nancy Ronca Bernadette Norton
Barbara Rozetar Rosemary McCurdy
Mary Anne O'Neill Connie Cammarano
Jane Sprecher April Groft

Anna Morales (TBA) Tyson-Schoener

(TBA) 16th & Haak

Middle:

John Wenrich

Minerva Cruz

Maria Lou Encarnacion

Kim Wagner

Fleio Szehloweki

Kim Wagner Elsie Szablowski Gary Maga Tom Hoover

High School:

Waldo Alvarado Sharon McLendon Judy Flores Candice Landis

Kathryn Moser Diane Spignesi-Dillman

Paige Toner Catherine Schultz
John Duggan Judy Frantz

(TBA)

Res. 3 Authorizes the Administration to approve the attendance of Kathleen Creelman to attend the Partnering to Prevent Gang Violence National Youth Gang Symposium in Atlanta, Georgia June 22 – June 26, 2008. The conference is sponsored by the office of Justice and Delinquency Prevention. (At a cost not to exceed \$1,487.18 general fund).

- Res. 4 Authorizes the Administration to staff and operate an extended school year program as stated on students' Individual Education Plan (IEP's). All of these programs will be provided in one building within the Reading School District. The following is a projection of staff and the number of students who will attend the summer program from June 9, 2008 and ending on July 18, 2008 (excluding July 4, 2008) from 8:00 a.m. to 1:00 p.m. An extra ten hours will be given to each teacher for set up and take down to be documented by time sheets. Program supplies will not exceed \$1,000.00 (ACCESS fund).
 - Eleven special education teachers (TBD) at the contracted rate of \$21.00 an hour (general fund).
 - One lead teacher (TBD) at a contracted rate of \$21.00 an hour (general fund).

- Sixteen instructional assistants (TBD) at the hourly per diem rate (general fund).
- One speech therapist four days per week (ACCESS fund).
- One physical therapist three days per week (ACCESS fund).

Class	Level	Projected Number of Students
Autism	6 th -12 th Higher Level	8
Autism	6 th -12 th Lower Level	8
Autism	K-5 th Higher Level	9
Autism	4 th -5 th Lower Level	8
Autism	2 nd -3 rd Lower Level	8
Autism	K-1st Lower Level	8
MDS	6 th -12th	9
MDS	K-5 th	8
LSS	9th - 12th	13
LSS	6 th -8 th	17
LSS	K-5 th	13

VOTE ON STUDENT SERVICES RESOLUTIONS 1-4: 9 YEAS; 0 NAYS

YEAS: Mr. Cooper Mr. Santoro

Mr. Stamm Mr. Storch
Ms. Stroman Ms. Wertz
Mr. Breton Mr. Cinfici

Mrs. McCree, President

STUDENT SERVICES RESOLUTIONS 1-4 WERE APPROVED.

Community Relations and Policy

The Community Relations and Policy Committee presented a total of five resolutions for consideration. Resolutions 2-5 were voted on together. The motion was made by Mr. Storch, and this was seconded by Ms. Wertz.

Res. 2 Authorizes the payment of 2008-09 membership dues to the Pennsylvania League of Urban Schools (PLUS) in the amount of \$8,150.00.

A-Res. 2

Res. 3 Authorizes the payment of 2008-09 membership dues to the Pennsylvania School Boards Association (PSBA) in the amount of \$10,969.86.

A-Res. 3

Res. 4 Authorizes the 2008 awards for the outstanding JROTC students as follows:

Jennifer Cruz - \$500.00 Stanley Para - \$300.00 Garrett Stackhouse - \$100.00

Res. 5 Accepts the donation from Robert Heebner of two VASA swim trainers, at a value of \$1,990.00, and thanks Mr. Heebner for his generosity.

VOTE ON COMMUNITY RELATIONS AND POLICY RESOLUTIONS 2-5: 9 YEAS; 0 NAYS

YEAS: Mr. Stamm Mr. Storch

Ms. StromanMs. WertzMr. BretonMr. CinficiMr. CooperMr. Santoro

Mrs. McCree, President

COMMUNITY RELATIONS AND POLICY RESOLUTIONS 2-5 WERE APPROVED.

Mr. Santoro made a motion to consider resolution 1, and this was seconded by Mr. Storch.

Res. 1 Approves the second reading of new policy - Communications.

A-Res. 1

VOTE ON COMMUNITY RELATIONS AND POLICY RESOLUTION 1: 8 YEAS; 1 NAY

YEAS: Mr. Storch Ms. Stroman

Ms. Wertz Mr. Breton Mr. Cinfici Mr. Cooper

Mr. Santoro Mrs. McCree, President

NAYS: Mr. Stamm

Extracurricular Activities

The Extracurricular Activities Committee presented a total of seven resolutions for consideration. Resolutions 1-6 were voted on together. The motion was made by Mr. Cooper, and this was seconded by Mr. Breton.

Res. 1 Ratifies the following stipend for the 2007-2008 school year at the amount listed:

Lead Home School Visitor James Harris \$600.00

Res. 2 Ratifies the Spring game worker changes/additions for the 2007-2008 school year:

year:	Ç		
HS Girls Soccer Ticket Taker/Seller	Sandy Zambito replaces MaryBeth Jenkins	1 game@\$20=\$20.00	
HS Boys V Baseball /Seller replaces	Dan Scott	1 game @\$20=\$20.00	Ticket Taker
/ Selici Teplaces	Rick Stafford		
HS Boys V Baseball Taker/Seller replac	Amanda Aungst	4 game@\$20=\$80.00	Ticket
Tuner, sener Teplue	Rick Stafford		
HS Boys V Baseball Announcer	Shawn Udrea 1 gam replaces Paul Jones	e@ \$25=\$25.00	
HS Boys/Girls Track Worker	Debbie Stanford	1 Meet \$25=\$25.00	
HS Boys/Girls Track Worker	Terry Wade	1 Meet \$25=\$25.00	
MS Boys/Girls Track Worker MS Boy/Baseball	Terry Wade	1 Meet \$25=\$25.00	
MS Boys Baseball/scoreboard	Paul Jones	3 game @ \$25=\$75.00	
MS Boy/Baseball	Leon Adams	3 game @\$25=\$75.00	
MS Boys/Baseball	Shawn Eduran	1 game @\$25=\$25.00	

- Res. 3 Accepts the resignation of Northeast Middle School Baseball Coach, Terry Koch as of April 30, 2008. Salary will be prorated 50 days @ \$1,325.68. (The calculation is determined as follows: Mr. Koch was originally approved for \$1,750.00. There are a total number of 66 coaching days in the baseball season. \$1,750.00 ÷ 66 days = \$26.515/day.)
- **Res. 4** Ratifies the spring coaching position changes/additions for the 2007-2008 school year:

Northeast MS **Dan Lavia, Jr.** 16 days @ \$26.52=\$424.32

Baseball Coach replaces
Terry Koch

- Res. 5 Approves the football team to travel to the following team camps at Penn State University, June 13-14, 2008, and East Stroudsburg University, July 21-23, 2008. Authorizes the Administration to provide bus transportation for these events at a cost not to exceed \$4,000.00.
- **Res. 6** Approves the following non-athletic extracurricular changes/additions for the 2007-2008 school year at the amount listed:

Amanda Stout			
Homework Club	Ann Otto	\$1	,200.00
Retraining	Tracy Prout	\$	500.00
Bus Duty	Keriellen Heydt	\$1	,050.00
Safety Patrol	Mark Lash	\$1	,000.00
Readers' Club	Janis Fraser	\$	500.00
School Web Site Club	Carol Boas	\$	250.00
<u>Riverside</u>			
Riverside Yearbook	Mia DiDomenico	\$	210.00
Riverside Yearbook	Bonnie Fox	\$	210.00
Homework Center	Aaron Thompson	\$	300.00
Bus Supervision	Melissa Eggert	\$	375.00
Bus Supervision	Jennifer Bard	\$	375.00
Glenside			
Homework Club I	Pamela Roberts	\$	450.00
Homework Club II	Angel Conrad	\$	450.00
Character Club II	Rebecca Moser	\$	200.00
Music Club	Angel Conrad	\$	100.00
Glenside Pride I & II	Rebecca Moser	\$	400.00
Eagle Eyes Safety	Angel Conrad	\$	50.00
Student Council	Yvonne Dorsey	\$	150.00
Computer Club	Pamela Roberts	\$	150.00
Accelerated Reading	Rebecca Moser	\$	150.00

Computer Crunch Excellence Eagles Club	Lisa Sinamon Pamela Roberts	\$ \$	150.00 150.00
Tyson-Schoener Awards Coordinator	Carol Good	\$	100.00
16th and Haak Safety Patrol Bus Duty A.M.	Michelle Peters Diane Kirn	\$ \$	300.00 200.00
Millmont Bus Duty	Kathleen Patrie	\$	400.00
13th and Union School Show Homework Center Student Council Bus Duty	Debra Wierzbicki Mike Benning Kathy Buchanan Kathleen Pallette		150.00 ,200.00 250.00 700.00
Thomas Ford Community Service (At-Risk Students)	Jane Sprecher Valerie Hower	\$ \$	600.00 600.00
12th and Marion Homework Center Bus Duty Bus Duty Bus Duty School Store	Sharon Majesky Bevelin Martinez Miriam Feliciano Martha Castaneda Sharon Majesky	\$ \$,200.00 270.00 300.00 330.00 250.00
10 th and Green Bus Duty	Israel Fuentes	\$	700.00
13th and Green Homework Club (Had been Community Service)	Jeanne Blum	\$	400.00
Art Club	Valerie Garvin	\$	500.00
NW Area Elem. Spelling Bee	Judy Fudeman Lisa Herbinko Stacy Hoffman Abby Steinmeyer Teresa Heckman Kate Demchyk	\$ \$ \$ \$ \$ \$ \$	150.00 50.00 50.00 50.00 50.00 50.00

Homework Club	Cathy Noone Janet Psota replacing Cathy Noone		\$ 50.00 \$1,200.00	
Bus Supervision	Karen Moore	\$	850.00	
<u>NEMS</u> Sports Banquet	Bernadette Himmelberger	\$	140.00	
School Newspaper	Stephanie Adam	\$	190.00	
School Activities	Linda Criss	\$	270.00	
End of Year	Kathy Ballein	\$	220.00	
Awards				
NJHS Sponsor	Sally Pitcherello		300.00	
Eligibility	Bernadette Himmelberger	\$	270.00	
After-School Enrichment (1st and 2nd Semester)	Kristine Donnelly	\$1	,600.00	
SOMS				
Talent Show	Kate Gallagher	\$	200.00	
Talent Show	Jason			
	Schwambach	\$	200.00	
SAP Coordinator	Robert Mazzo	\$	375.00	
Detention Monitor	Nancy Swope	\$2	2,000.00	
8th Grade Class Sponsor	Vaughn Spencer	\$	250.00	
Photographer	Daniel Egusquiza	\$	200.00	
Student Council Sponsor	Gwendolyn Lunow	\$	400.00	
NWMS				
Outside Duty a.m./p.m.	Kelly Bucca	\$	300.00	
Outside Duty a.m./p.m.	Chris Becker	\$	300.00	
Stage Crew	LeAnne	\$	180.00	
6	Zettlemoyer	*		
Detusionis	J -	_	000 00	
Ketraining	Michele Pickup	\$	800.00	
Retraining Retraining	Michele Pickup Ryan Shomo	\$ \$	800.00	
O	_			
Retraining	Ryan Shomo	\$	800.00	

Res. 7 TO BE VOTED ON SEPARATELY.

VOTE ON EXTRACURRICULAR ACTIVITIES RESOLUTIONS 1-6:

9 YEAS; 0 NAYS

YEAS: Ms. Stroman Ms. Wertz

Mr. Breton Mr. Cinfici Mr. Cooper Mr. Santoro Mr. Stamm Mr. Storch

Mrs. McCree, President

EXTRACURRICULAR ACTIVITIES RESOLUTIONS 1-6 WERE APPROVED.

The Extracurricular Activities Committee presented resolution 7 for consideration. The motion was made by Ms. Stroman, and this was seconded by Mr. Cooper.

Res. 7 Authorizes the Administration to purchase seven (7) District III Championship rings for the Boys' Basketball Coaches, at a total cost not to exceed \$1,200.00:

Richard Reyes Brian Ellison Brian Benkert Ricky Perez Matt Flowers Chris Zuber

Wesley Giddens

VOTE ON EXTRACURRICULAR ACTIVITIES RESOLUTION 7: 6 YEAS; 3 NAYS

YEAS: Mr. Breton Mr. Cooper

Mr. Santoro Mr. Stamm
Mr. Storch Ms. Stroman

NAYS: Ms. Wertz Mr. Cinfici

Mrs. McCree, President

EXTRACURRICULAR ACTIVITIES RESOLUTION 7 WAS APPROVED.

General Resolutions

There were three general resolutions considered. Each was voted on separately. Mr. Cooper made a motion to consider General Resolution 1, and this was seconded by Mr. Storch.

Res. 1 WHEREAS, a Committee of the Board of Directors of the Reading School District held a hearing on Wednesday, April 30, 2008 at 9:45 A.M. at the recommendation of the school administration for the expulsion of a high school student; and

WHEREAS, after hearing thereon, the Committee has reached a decision and recommendation on the requested expulsion.

NOW THEREFORE, be it Resolved that Student no. 024670 is expelled from the Reading School District for the remainder of the 2007-08 school year and the entire 2008-09 school year.

A copy of the findings of fact and conclusions are adopted by the Board of Directors but shall be confidential unless the student appeals this expulsion at which time the findings and conclusions shall be filed with the Court.

A-Res. 1

VOTE ON GENERAL RESOLUTION 1: 9 YEAS; 0 NAYS

YEAS: Mr. Breton Mr. Cinfici

Mr. CooperMr. SantoroMr. StammMr. StorchMs. StromanMs. Wertz

Mrs. McCree, President

GENERAL RESOLUTION 1 WAS APPROVED.

Mr. Storch made a motion to consider General Resolution 2, and this was seconded by Ms. Wertz.

Res. 2 WHEREAS, a Committee of the Board of Directors of the Reading School District held a hearing on Wednesday, April 30, 2008 at 10:55 A.M. at the recommendation of the school administration for the expulsion of a middle school student; and

WHEREAS, after hearing thereon, the Committee has reached a decision and recommendation on the requested expulsion.

NOW, THEREFORE, be it Resolved that Student No. 028802 is expelled from the Reading School District for the remainder of the 2007-08 school year and the entire 2008-09 school year.

A copy of the findings of fact and conclusions are adopted by the Board of Directors but shall be confidential unless the student appeals this expulsion at which time the findings and conclusions shall be filed with the Court.

A-Res. 2

VOTE ON GENERAL RESOLUTION 2: 9 YEAS; 0 NAYS

YEAS: Mr. Cinfici Mr. Cooper

Mr. SantoroMr. StammMr. StorchMs. StromanMs. WertzMr. Breton

Mrs. McCree, President

GENERAL RESOLUTION 2 WAS APPROVED.

A motion to consider General Resolution 3 was made by Ms. Wertz, and this was seconded by Mr. Storch.

Res. 3 Authorizes the Administration to donate the sum of \$300.00 to the Reading Education Foundation for the purpose of assisting a district student attend the National Marbles Tournament in New Jersey.

VOTE ON GENERAL RESOLUTION 3: 9 YEAS; 0 NAYS

YEAS: Mr. Cooper Mr. Santoro
Mr. Stamm Mr. Storch
Ms. Stroman Ms. Wertz
Mr. Breton Mr. Cinfici
Mrs. McCree, President

GENERAL RESOLUTION 3 WAS APPROVED.

Mr. Santoro made a motion to adjourn, and this was seconded by Ms. Wertz. The meeting adjourned at 9:53 p.m.

These are the (Official Proce	edings of the R	Reading School	District Regul	ar Board Meeti	ng held on
May 21, 2008.						

President of the Board Date Secretary of the Board Date